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Child Development and Pedagogy

Directions: Answer the following questions (Q. Nos. 1 to 30) 
by selecting the correct/most appropriate options.
1.	 Children acquire gender roles through all of the 

following, except:
(1)	 socialization	 (2)	 culture
(3)	 tutoring	 (4)	 media

2.	 One of the critiques of standardized tests has been 
that:
(1)	 their language is difficult to understand
(2)	 the tests cannot be administered on large 

populations
(3)	 they do not give a clear picture of a child’s ability
(4)	 they represent largely the mainstream culture 

and are therefore biased
3.	 The theory of multiple intelligence says that:

(1)	 intelligence can be of several kinds
(2)	 paper-pencil tests are not helpful
(3)	 intelligence can be multiplied with effective 

pedagogy
(4)	 intelligence can be rapidly accelerated

4.	 Teacher can utilize both assessment for learning and 
assessment of learning to:
(1)	 know learning needs of child and select teaching 

strategy accordingly
(2)	 assess child’s performance at periodic intervals 

and certify his/her performance
(3)	 monitor children’s progress and set appropriate 

goals to fill their learning gaps
(4)	 know children’s progress and achievement level

5.	 Which one of the following is not related to 
continuous and comprehensive evaluation?
(1)	 It is an integral part of teaching-learning process.
(2)	 It focuses on child’s achievement in different 

learning areas.
(3)	 It is useful to label children as slow, poor or 

intelligent.
(4)	 It has been mandated by the Right to Education  

Act of India.
6.	 Giftedness in children can be attributed to:

(1)	 a resource-rich environment
(2)	 successful parents
(3)	 a disciplined routine
(4)	 an interplay between heredity and environment

7.	 Children coming from socio-economically 
disadvantaged backgrounds need a classroom 
environment which:
(1)	 values and uses their cultural and linguistic 

knowledge
(2)	 discourages the use of their language so that 

they learn the mainstream language
(3)	 categorizes children based on their abilities
(4)	 teaches them good behaviour

8.	 The intervention needed for creative and talented 
children in the classroom rests on:
(1)	 giving extra time to them
(2)	 being affectionate towards them
(3)	 giving them the responsibility of teaching other 

children
(4)	 use of customized and stimulating instructional 

methods by the teacher
9.	 Which one of the following ways is not a suitable 

way to help hyperactive children learn?
(1)	 Offering alternative ways of learning.
(2)	 Including physical activity in their daily 

schedule.
(3)	 Reprimanding them often for being restless.
(4)	 Breaking up a task into small, manageable 

segments.
10.	 Patterns of divergent thinking identify children, 

who are:
(1)	 dyslexic	 (2)	 creative
(3)	 resilient	 (4)	 disabled

11.	 Which one of the following does not describe the 
ways in which a teacher can model problem solving 
for children in the classroom?
(1)	 Be honest about making mistakes while solving 

something.
(2)	 Use vocabulary like think, ideas, trial and 

different answers.
(3)	 Ask questions with convergent answers.
(4)	 Discuss your thought processes about solving a 

particular problem.
12.	 Which one of the following is an emotion?

(1)	 Fear	 (2)	 Attention
(3)	 Stimulus	 (4)	 Memory

13.	 A three-year-old child explains that milk is produced 
by a machine at the milk booth.

	 Which one of the following offers the best 
explanation of the child’s understanding?
(1)	 The child’s answer is based on his/her experience 

of buying milk from the milk booth.
(2)	 The child has never seen cows.
(3)	 The child’s family does not offer a stimulating 

environment to the child.
(4)	 The child has very limited exposure of the world.

14.	 Which one of the following best describes a teacher’s 
role?
(1)	 A teacher should adhere to the prescribed 

textbook.
(2)	 Completing the syllabus on time leaving enough 

time for revision is important.
(3)	 Creating a relaxed space where children learn 

through dialogue and inquiry.
(4)	 Teacher's most important role in the classroom is 

to maintain discipline.
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15.	 Which one of the following classrooms encourages 
rich learning?
(1)	 A classroom with open activity corners and a 

variety of children’s literature in open shelves 
accessible any time of the day.

(2)	 A classroom with neatly organized material in 
cupboards brought out once a week for free play.

(3)	 A classroom with structured and planned 
learning driven by textbook content.

(4)	 A classroom with a variety of material displayed 
in the class beyond the reach of children so that 
the material lasts longer.

16.	 Which one of the following best describes the role of 
textbooks in the classroom?
(1)	 They maintain homogeneity in learning across a 

State or the Nation.
(2)	 They provide guidance to teachers and parents 

about the course of study.
(3)	 They form the most essential learning resource 

in a resource-starved context.
(4)	 They are one of the resource and reference 

materials available in the class.
17.	 The National Curriculum Framework-2005 derives 

its understanding from:
(1)	 behaviourism	 (2)	 constructivism
(3)	 cognitive theories	 (4)	 humanism

18.	 The children in a class can be considered to be 
motivated if:
(1)	 they maintain discipline in the class
(2)	 all are regular in attendance
(3)	 they ask questions seeking clarification from the 

teacher
(4)	 they come to school neatly dressed in uniform

19.	 Which one of the following is the most suitable to 
improve children’s learning?
(1)	 Teacher should explain the content using different 

examples and illustrations.
(2)	 All types of learning material should be there in 

the class.
(3)	 Teacher should facilitate children to interact with 

each other on real-life situations.
(4)	 Regular assessment test should be conducted.

20.	 The discipline which has a significant role in a 
learning environment is of the kind which helps:
(1)	 to create silence
(2)	 teachers to give instructions
(3)	 children rote memorize their lessons
(4)	 children to regulate and monitor their own 

learning
21.	 Which one of the following statements is true about  

the role of heredity and environment?
(1)	 A child’s ability to learn and perform is 

completely decided by the genes.
(2)	 Good care and a nutritious diet can fight off any 

disorder a child is born with.
(3)	 Environment plays a significant role only in the 

child’s language development.
(4)	 Certain aspects of development are influenced 

more by heredity and others more by environment.
22.	 Which one of the following statements cannot be 

attributed to Piaget’s theory?
(1)	 Children construct and use knowledge about 

their world.
(2)	 Learning takes place through constant practice.

(3)	 Children act on their environment.
(4)	 Development occurs in qualitative stages.

23.	 Which one of the following is not a limitation of the 
preoperational thought?
(1)	 Development of the symbolic thought.
(2)	 Egocentrism.
(3)	 Irreversibility.
(4)	 Tendency to concentrate.

24.	 Play has a significant role in development of young 
children for the following reasons, except:
(1)	 it stimulates their senses
(2)	 it is just a pleasant way to spend time
(3)	 they acquire new skills and learn when to use 

them
(4)	 they gain mastery over their body

25.	 Which one of the following questions invites 
children to think critically?
(1)	 What is the right answer?
(2)	 Can you think of a similar situation?
(3)	 What are the different ways in which we can 

solve this?
(4)	 Do you know the answer to this?

26.	 Which one of the following options best describes 
progressive education?
(1)	 Thematic units, regular unit tests, ranking
(2)	 Personalized learning, ability grouping, labeling 

students
(3)	 Project method, ability grouping, ranking.
(4)	 Learning by doing, project method, cooperative 

learning
27.	 Which one of the following statements about 

progressive education explains-Education is life 
itself?
(1)	 Schools are not required, children can learn from 

their life experiences.
(2)	 Education in schools should reflect the social 

and natural world.
(3)	 Life is the true educator.
(4)	 School education should continue as long as 

possible.
28.	 Which one of the following can be considered as a 

contribution of Kohlberg’s theory?
(1)	 The theory has elaborate testing procedures.
(2)	 It establishes a clear relationship between moral 

reasoning and action.
(3)	 His belief is that children are moral philosophers.
(4)	 His theory has supported an association between 

cognitive maturity and moral maturity.
29.	 The zone of Proximal Development refers to:

(1)	 the developmental phase when child takes 
complete responsibility for learning

(2)	 a context in which children can almost perform a 
task on their own with the right level of support

(3)	 the point in learning when support can be 
withdrawn

(4)	 the phase when maximum development is 
possible

30.	 An androgynous personality:
(1)	 has a balance of what are generally considered 

masculine and feminine traits
(2)	 tends to be assertive and arrogant
(3)	 adheres to stereotypical gender roles prevalent 

in the society
(4)	 refers to men with feminine traits
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Mathematics

31.	 The mathematics used by illiterate shopkeeper:
(1)	 is very useful in solving all mathematical 

problems
(2)	 has ambiguity and very low level of correctness 

in it
(3)	 should be discussed by the teachers in 

classrooms as an alternate strategy in solving 
related problems

(4)	 is not useful in the mathematics classroom
32.	 How should a teacher handle a heterogeneous 

group of children in a mathematics classroom?
(1)	 By grouping all children together in the same 

classroom.
(2)	 By grouping the children of different abilities 

together so that they can learn from each other
(3)	 By doing questions according to low ability 

children in the class and giving the complex 
questions as home assignments to higher ability 
children

(4)	 By grouping the children of same ability together 
and giving them questions according to their 
ability

33.	 The learning outcomes in mathematics are 
developed:
(1)	 to increase the achievement of children in 

various educational surveys
(2)	 to define classwise competencies and skills to be 

achieved by children
(3)	 to prepare children for year-end examinations.
(4)	 such that children may be told small steps for 

calculations
34.	 Which one of the following happenings in the 

classroom is an activity?
(1)	 Children reciting counting in form of rhymes
(2)	 Children copying from blackboard
(3)	 Children engaged in exploration
(4)	 Teacher explaining how to do sums

35.	 To develop skill of counting among children, which 
one of the following is not required to be learned as 
pre-number concept?
(1)	 Seriation
(2)	 Reciting number names randomly
(3)	 Creating groups
(4)	 One to one correspondence

36.	 On asking a child “What is area?” he/she answered 
length × breadth. What can you say about the 
child’s understanding about the concept of area?
(1)	 The child used the area of rectangle as general 

idea of area of any closed shape.
(2)	 The child is right in saying area is length × 

breadth.
(3)	 The child is confused between the concept of 

area and perimeter.
(4)	 The child has no idea about the concept of area.

37.	 Which one of the following statements is true with 
respect to mathematics learning?
(1)	 Generally girls are weaker in mathematics.
(2)	 Everybody can learn mathematics.
(3)	 Mathematics can only be learnt by rigorous 

practice.
(4)	 Mathematics is a difficult subject to learn.

38.	 To teach the Pythagoras theorem, a teacher has 
distributed a sheet on which four right-angled 
triangles were drawn and asks the child to find the 
relationship between the sides of a triangle.

	 In the above situation, the teacher used:
(1)	 deductive method	 (2)	 lecture method
(3)	 laboratory method	 (4)	 inductive method

39.	 Which one of the following statements is not true 
about ‘concept maps’?
(1)	 Concept maps should be constructed by teachers 

only.
(2)	 Concept maps are hierarchical in nature.
(3)	 Concept maps help in linking prior knowledge 

to new instruction.
(4)	 Concept maps represent a collection 

interconnected concepts and links connecting 
them.
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41.	 For the given shapes, which one fo the following 
statements is not correct?

(1)	 One of them is not a parallelogram.
(2)	 Two of them are rhombuses.
(3)	 Two of them are rectangles.
(4)	 All are parallelograms.

42.	 Which one of the following represents the number 
‘eleven thousand eleven hundred eleven’?
(1)	 12111	 (2)	 11000110011
(3)	 XIXIXI	 (4)	 111111

43.	 The point A and B represents numbers on a number 
line as shown below:

	
	 The distance between the points A and B is:

(1)	 84000 units	 (2)	 22 units
(3)	 22000 units	 (4)	 29000 units

44.	 How many packets of 
1

16  
kg sugar can be made 

from
 
3

1
4  

kg of sugar?

(1)	 48	 (2)	 12
(3)	 64	 (4)	 52

45.	 Harish started his journey at 18 : 40 and finished at 
22 : 20. The time taken in completing the journey is:
(1)	 3 hours 80 minutes	 (2)	 4 hours 40 minutes
(3)	 3 hours 20 minutes	 (4)	 3 hours 40 minutes

46.	 A bucket of capacity 2000 mL is to be filled by using 
containers measuring 200 mL and 300 mL. Which 
one of the following combinations of containers is 
not correct for filling the bucket completely by the 
containers of 200 mL and 300 mL respectively?
(1)	 4, 4	 (2)	 7, 2
(3)	 6, 3	 (4)	 1, 6
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47.	 Which one of the following is the best approximation 

of
 

7 1 3 85
9 09

. .
.

?
×

 

(1)
	

7 4
9
×

	
(2)

	

7 4
10
×

	
(3)

	

7 3
10
×

	
(4)

	

7 3
9
×

48.	 If one small square in the grid is of area 4 sq. units, 
what is the perimeter of the rectangle drawn on the 
grid?

(1)	 8 units	 (2)	 24 units
(3)	 12 units	 (4)	 32 units

49.	 A child scored 75 marks in each of five subjects. 
What is the median marks obtained by the child?
(1)	 375	 (2)	 15
(3)	 70	 (4)	 75

50.	 Which one of the following can be folded to form 
the given solid?

(1)
	 	

(2)
	

(3)	
	

(4)
	

51.	 If Red part in the following pie chart is 40, what is 
White part?

	
(1)	 10	 (2)	 12
(3)	 20	 (4)	 5

52.	 Observe the following solid shape:
	 Which one of the following is the top view of the 

given solid?

	
(1)

	 	
(2)

	

(3)

	 	

(4)

	

53.	 Which one of the following costs more?
I.	 200 packets of `250 each.
II.	 20 dozens of `250 each item.
(1)	 II
(2)	 Both I and II are equal
(3)	 Cannot be calculated
(4)	 I

54.	 The sum of 1 – 1 + 1 – 1 + 1 – 1 ... to even number 
of term is:
(1)	 –1	 (2)	 +1
(3)	 2	 (4)	 zero

55.	 The assessment of what children learn in 
mathematics in primary classes should not focus on:
(1)	 development of mathematical language
(2)	 preciseness in answering mathematics problems
(3)	 development of reasoning skills
(4)	 understanding of the mathematical concepts

56.	 What sequence of the following instructions should 
be followed in development of a mathematical 
concept in elementary classes?
I.	 Drawing pictures
II.	 Using symbolic representation
III.	Providing experiences
IV.	 Explaining through language
(1)	 III, IV, I, II	 (2)	 IV, III, II, I
(3)	 III, I, II, IV	 (4)	 IV, III, I, II

57.	 A child subtracted two numbers as shown below:

83

–27

64
	 Which one of the following statements given idea 

about the child’s learning of subtraction?
(1)	 The child does not know how to subtract.
(2)	 The child knows the process of subraction of 

two-digit numbers.
(3)	 It is a mistake and it can be rectified by repeated 

practice.
(4)	 The child has misconceptions about place value 

in the process of subtraction.
58.	 Arrange the following steps of cycle of learning and 

assessment in order:
I.	 Teaching-learning integrated with assessment
II.	 Planning and organization of teaching-learning 

and assessment
III.	Developing progress reports
IV.	 Reporting and communicating feedback of 

children’s learning and progress
(1)	 I, II, IV, III	 (2)	 IV, I, II, III
(3)	 II, IV, I, III	 (4)	 II, I, III, IV

59.	 Why are Roman numerals not commonly used in 
writing numbers like the Hindu-Arabic numerals?
(1)	 Roman numerals are difficult to remember.
(2)	 The formation of numbers using Roman numerals 

is a complicated task.
(3)	 Children get confused with the English alphabet 

and Roman numerals.
(4)	 The Roman numerals do not employ place 

value, so calculations are difficult to perform 
using these numerals.
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60.	 A teacher encourages the children in her class to 
explain the physical properties of the objects around 
them in their own words.

	 What is the most appropriate objective of the teacher 
to do such an activity with her students?
(1)	 Children enjoy explaining the objects in their 

own language like they enjoy playing dumb 
charades.

(2)	 It makes the children observe the physical 
properties of an object informally wich depends 
their understanding about shapes.

(3)	 It is a useful activity which introduces a child to 
the shapes.

(4)	 It is a very interesting activity which can be 
performed in the free time for revisiting the 
concept of shapes.

Environmental Studies

Directions: Answer the following questions (Q. Nos. 61 to 
90) by selecting the correct/most appropriate options.
61.	 Who built the Golconda Fort?

(1)	 Chalukya Dynasty	 (2)	 Kakatiya Dynasty
(3)	 Pallava Dynasty	 (4)	 Chola Dynasty

62.	 What is the mass of an object with a density of 15 g/
mL and a volume of 3 mL?
(1)	 45 g	 (2)	 5 g
(3)	 12 g	 (4)	 18 g

63.	 Which one of the following is a scalar quantity?
(1)	 Gravity	 (2)	 Momentum
(3)	 Weight	 (4)	 Mass

64.	 An object in which no light rays can pass though is 
called:
(1)	 translucent	 (2)	 transparent
(3)	 convex	 (4)	 opaque

65.	 What will be the weight of an object on the surface 
of the earth whose mass is 10 kg on the moon’s 
surface?
(1)	 10 kg	 (2)	 60 N
(3)	 98 N	 (4)	 60 kg

66.	 The rate of dissolution of a solute depends on:
(1)	 temperature	 (2)	 surface area
(3)	 weight	 (4)	 pressure

67.	 Sushma wants her students to be sensitized for 
‘conservation of trees‘. Which one of the following 
is the most suitable strategy to do so?
(1)	 Group discussion
(2)	 Poster making
(3)	 Helping children to adopt and nurture a plant.
(4)	 Conducting a debate in classroom.

68.	 Abhay asked his students to do a survey in groups 
on diseases that people in their neighbourhood 
suffered from. The survey is not mentioned in 
the textbook. Which option is not relevant for this 
teaching-learning strategy?
(1)	 It helped children connect learning with real life.
(2)	 It enabled children understand data handling 

and work together.
(3)	 It helped the community understand the diseases 

that they suffered from.
(4)	 It provided opportunity to interact with 

community.

69.	 To talk about emergency situations, Priya asked 
children’s experiences when they faced any 
emergencies. Children narrated their experiences 
with fire, electric shock and road accidents. She asked 
questions, assessed their existing understandings and 
discussed safety aspects using resources such as road 
safety advertisements from newspapers and also 
used LPG and electric bill to discuss safety guidelines 
on fire and electric shock respectively. Which is the 
most appropriate approach that Priya employed?
(1)	 Experiential learning approach
(2)	 Enquiry approach
(3)	 Humanistic approach
(4)	 Cognitive approach

70.	 ‘Community‘ is an important teaching and learning 
resource, because:
(1)	 elderly people are wise and have time
(2)	 it provides learning opportunity in real setting
(3)	 one can accept all knowledge available in the 

community uncritically
(4)	 it is inexpensive and accessible

71.	 In EVS teaching-learning, linking classroom learning 
to life outside school and enriching it implies.
(1)	 linking textbooks to global environmental issues 

and concerns
(2)	 whole school approach
(3)	 going beyond curriculum
(4)	 going beyond the textbooks

72.	 To class III students, Rama taught that a father, 
mother and their children constitute nuclear family 
and if grandparents and other relatives stay along, 
then it is an extended family. What do you think of 
this?
(1)	 Rama is insensitive towards her students.
(2)	 The teaching-learning approach is not inclusive.
(3)	 The concept of family has to be taught like this.
(4)	 The definition of a family is incorrect.

73.	 Which of the following is/are activity/activities in 
EVS classroom?
(1)	 Picture reading	 (2)	 Field visit
(3)	 Use of blackboard	 (4)	 All of the above

74.	 Environmental studies curriculum may lead to 
holistic learning of children if it is:
(1)	 integrated	 (2)	 inclusive
(3)	 thematic	 (4)	 all of the above

75.	 The EVS textbook has a chapter on snake charmer. 
It is intended to make children aware and be 
sensitized:
(1)	 for snake charmers as children do not see them 

often these days
(2)	 that snake charmers may not harm snakes and 

they need to be provided with alternatives 
before depriving them of their livelihoods

(3)	 that animal keeping is good source of livelihood
(4)	 that it is an illegal act

76.	 Which is most relevant to the mid-day meal time in 
school?
(1)	 It is a good teaching-learning opportunity for 

EVS teaching learning.
(2)	 It is for children who come empty stomach to 

school.
(3)	 It wastes a lot of precious time of teaching 

learning.
(4)	 It has nothing to do with teaching-learning.
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77.	 What does ‘learning without burden‘ in the context 
of Environmental Studies imply?
(1)	 Less number of chapters in EVS textbooks.
(2)	 Load of incomprehension needs to be reduced.
(3)	 The EVS curriculum needs to be reduced to half.
(4)	 Less weight of schoolbag.

78.	 What purpose does group learning serve in an EVS 
classroom?
(1)	 To segregate high performers and low achieving 

students and to do remedial teaching.
(2)	 To inculcate values of cooperation and working 

together to enable each child participate actively 
and learn.

(3)	 To manage students easily and reduce workload.
(4)	 Boys and girls can learn separately.

79.	 What is the full form of ‘BALA‘?
(1)	 Braille as Learning Aid.
(2)	 Building as Learning Aid.
(3)	 Braille Aided Learning Assessment.
(4)	 Brain Aided Learning Assignment.

80.	 What do ‘alternative frameworks‘ mean?
(1)	 Ideas that differ from the formally accepted 

explanations of the concepts.
(2)	 Ideas presently held by scientists and social 

scientists.
(3)	 All ideas that are firmly held by children.
(4)	 Textbook explanations of various physical 

phenomena.
81.	 Women are weaker than men. It is a:

(1)	 scientific fact	 (2)	 stereotype
(3)	 superstition	 (4)	 myth

82.	 What is the location of Jammu & Kashmir and Goa, 
with respect to Bihar in India?
(1)	 West and East
(2)	 North-west and South-west
(3)	 South-west and North-east
(4)	 East and West

83.	 Under which of the following conditions will the 
process of evaporation be slowest?
(1)	 Surface area increases but temperature decreases.
(2)	 Surface area decreases but temperature increases.
(3)	 Both surface area and temperature decrease.
(4)	 Both surface area and temperature increase.

84.	 The ability to understand relative position of places, 
distances and direction is:
(1)	 mapping skill	 (2)	 positional skill
(3)	 graphic skill	 (4)	 directional skill

85.	 Which National Curriculum Framework (NCF) 
recommended environmental studies to be taught as 
an integrated curricular area at the primary level?
(1)	 NCF-1988	 (2)	 NCF-2000
(3)	 NCF-1975	 (4)	 NCF-2005

86.	 Which region has the practice of shifting cultivation 
in India?
(1)	 Southern region	 (2)	 North-western region
(3)	 South-eastern region	 (4)	 North-eastern region

87.	 Which one of the following statements is not true for 
hydropower generated from river dams?
(1)	 It does not pollute water or air.
(2)	 Hydropower facilities can have large 

environmental impacts.
(3)	 Dams displace indigenous people from their 

river lifelines.
(4)	 Dams encourage sustainable growth.

88.	 Which of the following is/are greenhouse gas/gases?
(1)	 Carbon dioxide	 (2)	 Methane
(3)	 Water vapour	 (4)	 All of the above

89.	 Why are cold deserts in India not affected by the 
monsoon?
(1)	 Cold deserts lie in the rain shadow of the 

Himalayas.
(2)	 Air is very thin in cold deserts.
(3)	 Cold deserts are at a very high altitude.
(4)	 Cold deserts have hot summers and extremely 

cold winters.
90.	 Which one of the following is responsible for turning 

Taj Mahal yellow?
(1)	 Sulphur dioxide	 (2)	 Sulphur
(3)	 Chlorine	 (4)	 Nitrogen dioxide

Language: English

Directions: Answer the following questions (Q. Nos. 91 to 
105) by selecting the correct/most appropriate options.
91.	 ‘Cloze‘ means:

(1)	 missing part	 (2)	 close
(3)	 assessing	 (4)	 finishing

92.	 The last stage of writing is:
(1)	 guided writing	 (2)	 free writing
(3)	 advanced writing	 (4)	 controlled writing

93.	 The procedure of alphabetic method is:
(1)	 words–phrases–sentences–paragraph
(2)	 letters–words–sentences–paragraph
(3)	 letters–words–phrases–paragraph
(4)	 letters–words–phrases–sentences

94.	 “You ask, what has my government done for you? I 
can answer in two words a lot!“

	 The question put up here is:
(1)	 stylized	 (2)	 a prompt
(3)	 explanatory	 (4)	 rhetorical

95.	 According to the observation in the National 
Curriculum Framework (NCF)-2005, English is a 
__________ language in India.
(1)	 foreign	 (2)	 first
(3)	 global	 (4)	 second

96.	 Read the exchange:
	 Teacher : Shall we go out to the garden and find out 

the names of those flowers near the corridor?
	 Student: Yes, yes, yeah.
	 Teacher: Yes, Ma,am, please.
	 Here, the teacher:

(1)	 makes a polite suggestion to start reading
(2)	 confirms the student’s request
(3)	 offers an alternative language activity
(4)	 relates language function with politeness

97.	 Which one of the following helps in learning the 
second language without using the printed text?
(1)	 Language immersion
(2)	 Grammar-translation method
(3)	 Situational approach
(4)	 Natural approach

98.	 Iconic mode of learning is based on the system of 
using:
(1)	 symbols
(2)	 images and diagrams
(3)	 different types of graph
(4)	 a variety of activities
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99.	 While reading for comprehension, we understand 
that some pairs are examples of homograph. Which 
one of the following is a homograph?
(1)	 lead [metal]/lead [give direction]
(2)	 lead [give direction]/dead [mortal]
(3)	 mail [post]/male [gender]
(4)	 warm/tepid [being neither too hot nor too cold]

100.	A ‘sight word‘ is a vocabulary item:
(1)	 that is to be learnt by heart
(2)	 that the reader recognises and finds meaningful 

on sight without a complicated analysis
(3) 	that helps in judging the effectiveness of the 

author’s style
(4)	 that needs proper visual understanding of the 

context
101.	Which one of the following methods is suggested for 

teaching grammar at primary level?
(1)	 Textbook method	 (2)	 Inductive method
(3)	 Translation method	 (4)	 Deductive method

102.	Flower and Hayes regarded which one of the 
following skills as ‘problem-creating and solving 
skill‘?
(1)	 Speaking	 (2)	 Reading
(3)	 Writing	 (4)	 Listening

103.	Find out the function from the following:
(1)	 Champion	 (2)	 Handsome
(3)	 Seizing	 (4)	 And

104.	What do you mean by ‘review‘?
(1)	 Evaluation	 (2)	 Critical evaluation
(3)	 Assessment	 (4)	 Guess

105.	Content words are called:
(1)	 grammatical words	 (2)	 lexical words
(3)	 empty words	 (4)	 functors

Directions: Read the passage carefully and answer the 
questions that follow (Q. Nos. 106 to 114) by selecting the 
correct/most appropriate options.
When it comes to structures that are both majestic and well-
fortified, the classic European castle is the pinnacle of design. 
Across the ages castles changed, developed, and eventually fell 
out of use, but they still command the fascination of our culture.
Castles were originally built in England by Norman invaders in 
1066. As William the Conqueror advanced through England, he 
fortified key positions to secure the land he had taken. Castles 
also served as bases of operation for offensive attacks. Troops 
were summoned to, organized around, and deployed from 
castles. In this way castles served both offensive and defensive 
roles in military operations.
Not limited to military purposes, castles also served as offices 
from which the lord would administer control over his fiefdom. 
They would address disputes, handle business, feast, and enjoy 
festivities. In this way castles served as important social centres 
in medieval England. Castles also served as symbols of power.
The first castles constructed in England were made from earth 
and timber. Those who constructed them took advantage of 
natural features, such as hills and rivers, to increase defenses. 
Since these castles were constructed from wood, they were 
highly susceptible to attacks by fire. Wooden castles were which 
gradually replaced by stone, greatly increased the strength 
of these fortifications; however, being made from stone did 
not make these castles entirely fireproof. Attackers could hurl 
flaming objects into the castle through the windows or ignite 
the wooden doors.
The demise of castles can ultimately be attributed to gunpowder. 
During the 15th century, artillery became powerful enough to 
break through stone walls. This greatly undermined the military 

role of castles. Castles were then replaced by artillery forts that 
had no role in civil administration, and country houses that 
were indefensible. Though castles no longer serve their original 
purposes, remaining castles receive millions of visitors each year 
from those who wish to experience these majestic vestiges of a 
time long passed.

Directions: Answer the following questions (Q. Nos. 106 to 
114) by selecting the correct/most appropriate options.
106.	Which one of the following is not a function of 

castles as expressed in the passage?
(1)	 Castles served as symbols of power.
(2)	 Castles were important social centres in medieval 

England.
(3)	 Castles were the places where knights would 

keep their best horses.
(4)	 Castles served both offensive and defensive 

purposes militarily.
107.	Which one of the following best describes the main 

idea in Paragraph 2?
(1)	 It explains why castles were first built in England 

and the military purposes they served.
(2)	 It shows how Norman lords were often scared 

and frequently retreated.
(3)	 It details all of the purposes that English castles 

served.
(4)	 It describes how and why William the conqueror 

took control of England.
108.	The original castles were first made from earth and 

timber because:
(1)	 it did not occur to people to build castles out of 

stone
(2)	 people did not realise how weak wooden castles 

would be against fire
(3)	 wooden castles were prettier than dirty stone 

castles
(4)	 it takes a lot more time and energy to build a 

stone castle
109.	Wooden castles were converted to stone castles as:

(1)	 wooden castles are uncomfortable
(2)	 stone castles offer better defense
(3)	 stone castles stay cooler in the summer
(4)	 wooden castles take a long time to build

110.	Which one of the following best explains how 
gunpowder was the nemesis of traditional castles?
(1)	 Artillery forts with large cannons became more 

stylish than traditional castles.
(2)	 Defending castles grew difficult, since attackers 

could just shoot castle defenders.
(3)	 Cannons were able to knock down stone walls, 

so castles offered little protection.
(4)	 Wars were fought with guns and hiding in castles 

was no longer necessary.
111.	Which one of the following titles would best describe 

the content to this passage?
(1)	 Defending the Castle: Technologies used to 

defend Medieval castles.
(2)	 A short history of castles: The rise and fall of 

castles in England.
(3)	 Fancy Living: Learning about Castles, Palaces 

and Fortresses.
(4)	 William the Conqueror: Bringing Castles to 

England.
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112.	Which one of the following is an opinion?
(1)	 William the conqueror built the first castles in 

England.
(2)	 It is unfortunate that castles no longer serve their 

original purposes.
(3)	 Castles were used as offices of administration 

during the Middle ages.
(4)	 Stone is more resistant to fire than wood.

113.	Choose a word from the given options which means 
almost the same as the word ‘vestiges‘ used in the 
passage.
(1)	 Outskirts	 (2)	 Farrago
(3)	 Creation	 (4)	 Reminder

114.	Choose a word which serves as the antonym of the 
word ‘pinnacle‘.
(1)	 Crest	 (2)	 Apex
(3)	 Steeple	 (4)	 Nadir

Directions : Read the extract given below and answer the 
questions that follow (Q. Nos. 115 to 120) by selecting the 
correct/most appropriate options.
My mother bore me in the southern wild,  
And I am black, but O! my soul is white;  
White as an angel is the English child:  
But I am black as if bereav'd of light.

My mother taught me underneath a tree  
And sitting down before the heat of day,  
She took me on her lap and kissed me,  
And pointing to the east began to say.

Look on the rising sun : there God does live

And gives his light, and gives his heat away.

And flowers and trees and beasts and men receive

Comfort in morning joy in the noonday.

And we are put on earth a little space,  
That we may learn to bear the beams of love,

And these black bodies and this sun-burnt face

Is but a cloud, and like a shady grove.

Directions: Answer the following questions (Q. Nos. 115 to 
120) by selecting the correct/most appropriate options.
115.	‘The Little Black Boy‘ was born in:

(1)	 the servants house	 (2)	 the southern wild
(3)	 the east coast	 (4)	 the desert wastes

116.	‘The Little Black Boy‘ wished that he could be:
(1)	 older	 (2)	 free
(3)	 white	 (4)	 educated

117.	The mother of ‘The Little Boy‘ says god put people 
on earth:
(1)	 to work off their sins
(2)	 to prepare them for future trials
(3)	 to learn how to treat one another as equals
(4)	 to learn to endure his love

118.	The mother of ‘The Little Black Boy‘ says his dark 
skin and face are:
(1)	 a veil	 (2)	 a curse
(3)	 a cloud	 (4)	 a blessing

119.	The phrase ‘like a shady grove‘ is:
(1)	  a simile
(2)	 an example of alliteration
(3)	 a personification
(4)	 a metaphor

120.	Through the phrase ‘as if bereav’d of light‘, the poet 
hints at:
(1)	 low self-esteem of the child
(2)	 lack of hope for the future
(3)	 colour of the boy
(4)	 all of the above

Language: Hindi

funsZ'k (121-135): uhps fn, x, ç'uksa ds lgh@lcls mi;qDr mÙkj 
okys fodYi dks pqfu,µ

121.	lquus vkSj fy[kus dh dq'kyrk dk vkdyu djus dk lcls vPNk 
rjhdk gSµ
(1)	 dfork lqudj ç'uksa ds mÙkj fy[kukA
(2)	 lquh xbZ dgkuh dks vius 'kCnksa esa fy[kukA
(3)	 lquh xbZ dgkuh dks 'kCn'k% fy[kukA
(4)	 dfork lquuk vkSj 'kCn'k% fy[kukA

122.	lkFkZd i<+rs le; dHkh&dHkh okD;ksa] 'kCnksa dh iqujko`fÙk djrk 
gSA ;g Hkk"kk;h O;ogkj n'kkZrk gS fdµ
(1)	 og vVd&vVd dj gh i<+ ldrk gSA
(2)	 og le> ds lkFk i<+us dh dksf'k'k djrk gSA
(3)	 mls yEcs 'kCnksa dks i<+us esa dfBukbZ gksrh gSA
(4)	 og i<+us esa vfèkd le; ysrk gSA

123.	fgUnh Hkk"kk esa vkdyu dk mís'; ugha gSµ
(1)	 Hkk"kk lh[kus ds lanHkZ esa çR;sd cPps dh fo'ks"k vko';drk 

dh igpku djukA
(2)	 Hkk"k lh[kus&fl[kkus dh çfØ;k dks mUur cukukA
(3)	 cPpksa dh Hkk"kkxr =qfV;ksa dh gh igpku djukA
(4)	 cPpksa dh Hkk"kk&çxfr dks vfHkHkkodksa vkSj vU; f'k{kdksa dks 

crkukA

124.	vkids fopkj ls çkFkfed Lrj ij mRÏ"V ys[ku dk;Z dk 
mnkgj.k gSµ
(1)	 ^esjs liuksa dk Hkkjr* fo"k; ij vuqPNsn fy[kukA
(2)	 ikB~;&iqLrd ls brj dfBu 'kCnksa dk Jqrys[kuA
(3)	 fdlh vk¡[kksa&ns[kh ?kVuk dk fyf[kr o.kZu djukA
(4)	 ^Nqfê;k¡ dSls eukbZ\* bl fo"k; ij vuqPNsn fy[kukA

125.	Hkk"kk lh[kus ds lanHkZ esa dkSu&lk dFku lgh gS\
(1)	 cPpksa esa Hkk"kk vftZr djus dh tUetkr {kerk ugha gksrhA
(2)	 cPps fo|ky; vkdj gh Hkk"kk lh[krs gSaA
(3)	 cPps fofHkUu lapkj ekè;eksa ls gh Hkk"kk lh[krs gSaA
(4)	 cPpksa esa Hkk"kk vftZr djus dh tUetkr {kerk gksrh gSA

126.	fMLxzkfQ;k ls çHkkfor cPpksa dks eq[; :i ls ---------- esa dfBukbZ 
gksrh gSA
(1)	 cksyus	 (2)	 i<+us
(3)	 fy[kus	 (4)	 lquus

127.	çkFkfed Lrj dh fgUnh Hkk"kk dh ikB~;&iqLrd esa vki fdls 
lokZfèkd egÙoiw.kZ ekurs gSa\
(1)	 uSfrd ewY;ksa okyh dgkuh&dfork,¡
(2)	 cgqrk;r esa fn, x, vH;kl dk;Z
(3)	 fgUnh Hkk"kk dh fofoèk :i nsus okyh jpuk,¡
(4)	 cgqr çfl¼ ys[kdksa dh çfl¼ jpuk,¡
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128.	cgqHkkf"kd d{kk esa cPpksa dh Hkk"kk,¡µ
(1)	 f'k{kd ds fy, csgn tfVy pqukSrh gSaA
(2)	 vkdyu dh çfØ;k dks ckfèkr djrh gSaA
(3)	 Hkk"kk lh[kus dh çfØ;k dks ckfèkr djrh gSaA
(4)	 lalkèku ds :i esa dk;Z dj ldrh gSaA

129.	Hkk"kk lh[kus vkSj Hkk"kk vftZr djus esa varj dk eq[; vkèkkj gSµ
(1)	 Hkk"kk dk fyf[kr vkdyu	 (2)	 Hkk"kk dk miyCèk ifjos'k
(3)	 Hkk"kk dh tfVy lajpuk,¡	 (4)	 Hkk"kk dh ikB~;&iqLrdsa

130.	çkFkfed Lrj ij fgUnh Hkk"kk fl[kkus ds fy, lcls vfèkd t:jh 
gSµ
(1)	 d{kk esa jaxhu ikB~;&iqLrdsa	
(2)	 d{kk esa fçaV le`¼ ifjos'k
(3)	 d{kk esa fyf[kr vkdyu	
(4)	 Hkk"kk f'k{kd dk Hkk"kk&Kku

131.	cPps cksy&pky dh Hkk"kk dk vuqHko ysdj fo|ky; vkrs gSaA 
bldk fufgrkFkZ gS fdµ
(1)	 cPpksa dh cksy&pky dh Hkk"kk dks lqèkkjk tk,A
(2)	 cPpksa ds Hkk"kk;h vuqHkoksa dk mfpr ç;ksx fd;k tk,A
(3)	 cPpksa ds Hkk"kk;h vuqHkoksa dks d{kk ds ckgj j[kk tk,A
(4)	 cPpksa dks cksy&pky dh Hkk"kk u fl[kkbZ tk,A

132.	Hkk"kk lh[kus&fl[kkus esa vki fdls lcls vfèkd egÙoiw.kZ ekurs gSa\
(1)	 lkekftd var%fØ;k	 (2)	 n`';&JO; lkexzh
(3)	 cky lfgR;	 (4)	 laKkukRed fodkl

133.	fgUnh Hkk"kk f'k{kd dk ;g ç;kl gksuk pkfg, fd osµ
(1)	 cPpksa dh ekr`Hkk"kk ds LFkku ij fgUnh Hkk"kk dks gh d{kk esa 

LFkku nsaA	
(2)	 cPpksa }kjk ekud Hkk"kk dk gh ç;ksx djus ds fy, volj nsaA
(3)	 cPpksa dks f'k{kkçn cky lkfgR; i<+us ds Hkjiwj volj nsaA
(4)	 cPpksa dh Hkk"kk lacaèkh lgt jpuk'kfDr dks c<+kus ds volj 

nsaA

134.	d{kk ik¡p ds cPpksa ds Hkk"kk vkdyu ds lanHkZ esa vki fdl loky 
dks lcls detksj ekurs gSa\
(1)	 ;fn byk rqEgkjs Ldwy esa vk, rks mls fdu&fdu dkeksa esa 

ijs'kkuh gksxh\
(2)	 vius nksLrksa ls iwNdj irk djks fd dkSu fdl ckr ls 

?kcjkrk gSA
(3)	 ^bZnxkg* dgkuh esa gkfen us esys ls D;k [kjhnk\
(4)	 ds'ko lcls D;k dgrk gksxk\ dYiuk djds ds'ko ds 'kCnksa 

esa fy[kksA

135.	----------- Hkk"kk dk vfr egÙoiw.kZ çdk;Z gSA
(1)	 v{kj&Kku	 (2)	 lEçs"k.k
(3)	 ys[ku	 (4)	 lquuk

funsZ'k (136-141): uhps nh xbZ dfork dh iafDr;ksa dks i<+dj iwNs x, 
ç'uksa ds lgh@lcls mi;qDr mÙkj okys fodYi ds pqfu,µ

	 iwoZ pyus ds cVksgh]
	 ckV dh igpku dj ysA
		  gS vfuf'pr fdl txg ij]

		  lfjr fxfj xàj feysaxs
		  gS vfuf'pr fdl txg ij
		  ckx ou lqanj feysaxsA
	 fdl txg ;k=k [kRe gks
	 tk,xh ;g Hkh vfuf'pr

	 gS vfuf'pr dc lqeu dc
	 daVdksa ds 'kj feysaxsA
		  dkSu lglk Nw tk,¡xs
		  feysasxs dkSu lglk
		  vk iM+s dqN Hkh #dsxk
		  rw u ,slh vku dj ysA
	 iwoZ pyus ds cVksgh]
	 ckV dh igpku dj ysA
136.	dfork dh iafDr;ksa esa ;k=k dh fdl fo'ks"krk dh vksj ladsr fd;k 

x;k gS\
(1)	 lq[kksa dh vksj	 (2)	 vfuf'prrk dh vksj
(3)	 lkgl dh vksj	 (4)	 dfBukb;ksa dh vksj

137.	dfork esa vk, ^lqeu vkSj daVd* fdl Hkko ds çrhd gSa\
(1)	 ckx vkSj ou	 (2)	 lq[k vkSj nq%[k
(3)	 fç; vkSj vfç;	 (4)	 iwGy vkSj dk¡Vs

138.	dfork dh iafDr;ksa esa dfo O;fDr dks fdl ckr dh çsj.kk ns jgk 
gS\
(1)	 ioZrksa dks ns[kdj u Mjus dh 
(2)	 xgjh ufn;ksa ls u Mjus dh
(3)	 gj fLFkfr esa vkxs c<+us dh
(4)	 gj fLFkfr esa lkgl fn[kkus dh

139.	bl thou ;k=k esaµ
(1)	 lc dqN fuf'pr gSA	 (2)	 lc vksj eqf'dysa gSaA
(3)	 lc vksj lq[k gSA	 (4)	 dqN Hkh fuf'pr ugha gSA

140.	uhps fn, x, 'kCnksa esa ls ^lfjr* dk lekukFkhZ 'kCn dkSu&lk ugha 
gS\
(1)	 t;ekyk	 (2)	 un
(3)	 çokg	 (4)	 rfVuh

141.	^vfuf'pr* 'kCn esa dkSu&lk çR;; vk ldrk gS\
(1)	 fr	 (2)	 rh
(3)	 rk	 (4)	 rs

funsZ'k (142-150): uhps fn, x, vuqPNsn dks i<+dj iwNs x, ç'uksa ds 
lgh@lcls mi;qä mÙkj okys fodYi pqfu,µ

jk"Vªh; ioks± vkSj lkaLÏfrd lekjksgksa ds nkSjku xhr xk, tk,¡] dfork,¡ 
lquh vkSj lquk;h tk,¡] bls ysdj ekrk&firkvksa] Ldwy vkSj lekt 
esa O;kid lgefr gS ysfdu xhr&dfork,¡ cPpksa ds thou esa jp&cl 
tk,¡] os mudk Hkjiwj vkuUn ysus yxsa] [kqn rqdcafn;k¡ djus yxsa] jpus 
yxsa] ;g ekrk&firk dks eatwj ughaA ekrk dks yxrk gS ,slk djrs gq, rks 
os ml jkg ls HkVd tk,¡xs ftl jkg ij os mUgsa pykuk pkgrs gSaA ftl 
jkg ls os mUgsa viuh lksph gqbZ eafty ij igq¡pkuk pkgrs gSaA mudh bl 
bPNk esa ;g fufgr gS fd cPps oSlk dqN Hkh ugha djsa tks os djuk pkgrs 
gSa cfYd os oSlk djsa tSlk ekrk&firk pkgrs gSaA muds Hkhrj cPps os 
Lora=rkiwoZd lh[kus dh çfØ;k ds çfr lrr lansg vkSj xgjk Mj cuk 
jgrk gSA ;gh gky Ldwy dk Hkh gSA xhr&dfork Ldwy vkSj d{kkvksa 
dh jkstejkZ dh xfrfofèk dk fgLlk cu tk,¡ ;g Ldwy dks eatwj ughaA 
Ldwy dks yxrk gS bl lcds fy, le; dgk¡ gSA ;g ikB~;&iqLrd ls 
ckgj dh xfrfofèk gSA f'k{kd vkSj f'k{kk vfèkdkjh pkgrs gSa f'k{kd igys 
ijh{kk ifj.kke csgrj ykus ds fy, dke djsaA
nwljh vksj gekjh laLÏfr vkSj lekt esa xhr&dfork dh tks txgsa Fkha 
os txgsa yxkrkj lhfer gqbZ gSaA xhr xkus] lquus&lqukus ds volj gqvk 
djrs Fks] os volj gh xhr&dforkvksa dks xquxqukrs jg ldus ds fy, 
;kn djus dks çsfjr djrs FksA lgstus vkSj jpus ds fy, çsfjr djrs 
FksA muesa dqN tksM+us ds fy, çsfjr djrs FksA bl lcds fy, vfrfjDr 
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ç;klksa dh t:jr ugha iM+rh Fkh] og thou&'kSyh dk LokHkkfod fgLlk 
FkkA cPpksa ds fy, i<+kbZ ls vfèkd [ksyus&dwnus ds fy, le; vkSj 
txgsa FkhaA [ksyus&dwnus dh eLrh ds nkSjku gh muds chp ls Lor% gh 
u;s [ksyksa] rqdcafn;ksa vkSj [ksyxhrksa vkSj ckyxhrksa dk l`tu Hkh gks 
tk;k djrk FkkA mudh ;s jpuk,¡ pyu esa vk tk;k djrh Fkha] tcku 
ij p<+ tkrh Fkha vkSj lkyksa&lky mudh Vksfy;ksa ds chp cuh jgrh 
FkhaA le; ds lkFk muesa dqN deh ik, tkus ij la'kksfèkr gksrh jgrh 
FkhaA
142.	xhr&dfork cPpksa ds thou esa jp&cl tk,¡ ;g ekrk&firk dks 

ilan ugha gS] D;ksafd blls cPpsµ
(1)	 ekrk&firk }kjk r; y{; dks çkIr u dj ldsaxsA
(2)	 dsoy vkuUn esa gh [kks, jgsaxsA
(3)	 dsoy dfork gh fy[krs jgsaxsA
(4)	 i<+kbZ&fy[kkbZ esa cgqr fiNM+ ldrs gSaA

143.	xhr&dfork Ldwyksa dks Hkh ilan ugha gS] D;ksafd mUgsa yxrk gS 
fdµ
(1)	 blls cPpksa dk cgqr le; u"V gksrk gSA
(2)	 blls ijh{kk ifj.kke nsj ls vk,¡xsA
(3)	 ;g lh[kuk cgqr gh dfBu dke gSA
(4)	 Ldwyh i<+kbZ&fy[kkbZ ls bldk dksbZ lacaèk ugha gSA

144.	xhr&dfork ds ckjs esa dkSu&lk dFku lgh ugha gS\
(1)	 ;s thou&'kSyh dk LokHkkfod fgLlk gSaA
(2)	 ;s Hkk"kk&l`tukRedrk dks iksf"kr djrs gSaA
(3)	 lekt esa budh O;kid lgefr ugha gSA
(4)	 ;s laLÏfr dk vfHkUu fgLlk gSaA

145.	f'k{kk&O;oLFkk xhr&dfork dks fdl n`f"V ls ns[krh gS\
(1)	 lkèkd ds :i esa 	 (2)	 lg;ksxh ds :i esa
(3)	 laiwjd ds :i esa	 (4)	 ckèkd ds :i esa

146.	vuqPNsn ds vkèkkj ij xhr&dfork ds ckjs esa dkSu&lk dFku 
lgh ugha gS\
(1)	 buls cPps viuh jkg ls HkVd tk,¡xsA
(2)	 ;s cPpksa dks 'kCnksa ls [ksyus dk volj nsrs gSaA
(3)	 cPps budk Hkjiwj vkuUn ysrs gSaA
(4)	 Ldwy vkSj ifjokj bldh egÙkk dks le> ugha jgsA

147.	cPpksa ds fy, y{; dkSu fuèkkZfjr djrk gS\
(1)	 ekrk&firk	 (2)	 Ldwy
(3)	 f'k{kk vfèkdkjh	 (4)	 Lo;a cPps

148.	^dfork,¡ lquh&lquk;h tk,¡* esa fØ;k gSµ
(1)	 ldeZd	 (2)	 çsj.kkFkZd
(3)	 f}deZd	 (4)	 vdeZd

149.	^lkaLÏfrd* esa çR;; gSµ
(1)	 Ïfrd	 (2)	 bd
(3)	 d	 (4)	 frd

150.	^eatwj* dk lekukFkhZ 'kCn gSµ
(1)	 çLrko	 (2)	 Lohdkj
(3)	 vPNk	 (4)	 ilan
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	 71.	 (4)	 72.	 (2)	 73.	 (4)	 74.	 (4)	 75.	 (2)
	 76.	 (1)	 77.	 (2)	 78.	 (2)	 79.	 (2)	 80.	 (1)
	 81.	 (4)	 82.	 (2)	 83.	 (3)	 84.	 (1)	 85.	 (2)
	 86.	 (4)	 87.	 (4)	 88.	 (4)	 89.	 (1)	 90.	 (1)

Langauge: English

	 91.	 (1)	 92.	 (3)	 93.	 (4)	 94.	 (4)	 95.	 (3)
	 96.	 (4)	 97.	 (1)	 98.	 (2)	 99.	 (1)	 100.	 (2)
	 101.	 (2)	 102.	 (3)	 103.	 (3)	 104.	 (2)	 105.	 (2)
	 106.	 (3)	 107.	 (3)	 108.	 (2)	 109.	 (2)	 110.	 (3)
	 111.	 (2)	 112.	 (2)	 113.	 (4)	 114.	 (4)	 115.	 (2)
	 116.	 (3)	 117.	 (4)	 118.	 (3)	 119.	 (1)	 120.	 (4)

Langauge: Hindi

	 121.	 (2)	 122.	 (2)	 123.	 (4)	 124.	 (3)	 125.	 (4)
	 126.	 (3)	 127.	 (3)	 128.	 (4)	 129.	 (2)	 130.	 (2)
	 131.	 (2)	 132.	 (1)	 133.	 (4)	 134.	 (3)	 135.	 (2)
	 136.	 (4)	 137.	 (2)	 138.	 (3)	 139.	 (4)	 140.	 (1)
	 141.	 (3)	 142.	 (1)	 143.	 (4)	 144.	 (1)	 145.	 (4)
	 146.	 (1)	 147.	 (1)	 148.	 (3)	 149.	 (2)	 150.	 (2)
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1.	 Option (3) is correct.
Explanation: Tutoring does not affect 
gender roles. It gives an environment 
free of distraction and disruption 
so children can focus on learning. 
Hence, it becomes clear that children 
acquire gender roles through all the 
following except tutoring.

2.	 Option (4) is correct.
Explanation: Standardized testing 
requires each student to respond 
to the same set of questions or 
questions derived from a standard 
bank of questions.
n	Educators may alter their 

curriculum and "teach to the test" 
rather than focus on the unique 
needs of the students in their 
classroom.

n	Standardized test questions do 
not assess a student's higher-level 
thinking skills.

n	Students' test scores may result 
in anxiety, fatigue, and a lack of 
motivation.

n	Standardized tests only assess a 
student's general knowledge.

n	Test scores cannot reliably 
indicate a student's future 
success.

n	Standardized tests may include 
questions that some students 
cannot relate to because they have 
yet to have life experiences to 
understand the question's context. 
That results is an inequitable 
means of assessment. Additionally, 
this leads to inaccurate statistics 
driving educational policy 
and reinforcing biases against 
marginalized groups.

3.	 Option (1) is correct.
Explanation: In his multiple intelli-
gence theory, Howard Gardner 
states that people have multiple 
kinds of intelligence, such as musical, 
interpersonal, spatial-visual, and 
linguistic intelligence. He further 
suggests that a person may possess 
a range of abilities. For example, an 
individual might have good verbal, 
musical, and naturalistic intelligence 
skills
Eight kinds of intelligence he 
proposed are:
n	Linguistics
n	Musical
n	Logical-mathematical
n	Spatial
n	Bodily-kinesthetic

n	Interpersonal
n	Intrapersonal
n	Naturalist

4.	 Option (4) is correct.
Explanation: A school-based assess-
ment is a learner-centered approach 
to assessment. It is an assessment 
FOR learning and an assessment 
AS learning. Assessment happens 
formally, as well informally. It is 
crucial to address the learning needs 
of students and identify learning 
gaps in conceptual understanding 
to provide timely feedback to enrich 
students' learning. It uses multiple 
resources to collect information, 
evidence-based and child-centered.
Note: Assessment AS learning: This 
considers  self regulation of their 
own learning.
Assessment FOR learning: This 
considers while leaning to give 
feedback to improve students' 
performance.   

5.	 Option (3) is correct.
Explanation: Features of 
Continuous and Comprehensive 
Evaluation (CCE): Continuous and 
Comprehensive Evaluation (CCE) is 
a school-based evaluation covering 
all school activities related to a 
child's development.
It identifies the continuous learning 
progress of students on smaller 
content portions regularly.
Recognizes and addresses the 
needs of students who need to be 
academically sound.
Encourage students to participate in 
extra-curricular activities instead of 
focusing on academics.
Divides the huge CBSE portion into 
smaller chunks and reduces the 
pressure of enormous studying.
CCE leads to holistic education, 
which calls for overall student 
development.
It fosters the development of life 
skills, emotional intelligence, and 
critical thinking abilities.
Therefore, the objective of CCE is 
not to label children as slow, poor, or 
intelligent.

6.	 Option (4) is correct.
Explanation: Gifted students can 
understand material several grade 
levels above their peers and have 
surprising emotional depth and 
sensitivity at a young age.
A strong sense of curiosity and 
enthusiasm about unique interests 
and topics guides them.

They have a mature sense of humor.
Hence, the characteristics that 
characterize gifted students are that 
they learn rapidly and retain, are 
alert, keenly observant and respond 
quickly.
A child's brain development is 
affected by heredity (what a child 
is born with, inherited traits and 
abilities) and environment (what 
a child experiences, the care they 
receive, and their relationships with 
people).

7.	 Option (1) is correct.
Explanation: Diversity adds new 
perspectives to a classroom. Students 
of different genders, races, and 
backgrounds bring multiple insights 
and thoughts into a classroom which 
can contributes diverse perspectives 
and can help students learn more 
from each other.
A teacher should treat students 
equally; disadvantaged students can 
perform to the same standard as 
their advantaged counterparts and 
progress to university.
In that case, a teacher should 
continue to teach and make an effort 
to improve children's involvement 
by encouraging them through 
teaching by different methods and 
making them more inclusive and 
comfortable so that they feel open 
to participate. Thus, teachers can 
use their cultural and linguistic 
knowledge to make learning 
effective.

8.	 Option (4) is correct.
Explanation: Creative children 
can create or generate something. 
They can solve problems or tasks 
in a creative manner by generating 
many original ideas.
A child with a creative mind will 
display high levels of ability to 
create original and imaginative 
ideas. Hence, encouraging multiple 
perspectives, appreciating original 
ideas, and using customized and 
stimulating instructional materials 
is the intervention required to 
meaningfully engage them.
A teacher can use visuals, hands-on 
activities, and higher-order thinking; 
questioning for a stimulating class 
environment.

9.	 Option (3) is correct.
Explanation: ADHD is a neuro-
developmental disorder. It often 
begins in childhood and can persist 
till adulthood.
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Children may have trouble paying 
attention, controlling impulsive 
behaviours (may act without 
thinking about the result), or be 
overly active.
It results in low self-esteem, troubled 
relationships, and difficulty at school 
or work.
So instead of reprimanding 
them for being restless, a teacher 
should enforce the principle of 
Accommodation and help them by
1.	 Giving them extra time for tests.
2.	 They should use need specific 

instructions and assignments.
3.	 They should use technology to 

assist with tasks.
4.	 Since they tend to get restless, 

teachers should allow breaks and 
time to move around.

5.	 The class environment should 
limit distractions.

6.	 They should get extra help with 
staying organized.

10.	 Option (2) is correct.
Explanation: Divergent thinking 
is a method of generate creative 
ideas by exploring various possible 
solutions. It occurs spontaneously, 
free-flowing, and "non-linear", 
generating many ideas in an 
emergent cognitive fashion.
Hence, patterns of divergent 
thinking identify creative children.

11.	 Option (3) is correct.
Explanation: Convergent thinking 
happens when a problem is solved 
by applying established rules and 
logical reasoning. The process 
involves solving a situation within 
the context of available information 
and reaching a solution based on 
logical inference.
While the divergent thinking 
happens when students may 
generate their own ideas by 
exploring many possible solutions.

12.	 Option (1) is correct.
Explanation: Fear is a natural and 
powerful human emotion which 
alerts us to the danger or the threat 
of harm, physical or psychological.
Emotions influence various cognitive 
skills such as attention, memory, 
decision-making, critical thinking, 
problem-solving and regulation, 
all of which play a crucial role in 
learning.
Emotions, as stated, affect the 
internal motivation of students to 
learn based on interest and curiosity 
in learning.
Hence, fear is an emotion.

13.	 Option (1) is correct.
Explanation: Assimilation: As 
in question scenario is given, the 
child's understanding that milk is 
produced by a machine at the milk 
booth can be seen as an example of 
assimilation. The child assimilates 

the new information (the process of 
milk production) into their existing 
schema or mental framework, which 
is likely based on their experiences 
at the milk booth. They incorporate 
this new information by associating 
the production of milk with the 
machine they see at the booth. 
This assimilation allows the child 
to make sense of their observations 
and experiences within their existing 
cognitive structures.

14.	 Option (3) is correct.
Explanation: The role of the teachers 
is to provide more than just subject 
knowledge.
The teachers need to engage 
students in many activities inside 
the class.
They must give the required 
feedback to the students along with 
the assessment reports. Sometimes 
they act as instructors or mentors, 
Companions or Spectators.
They do not only teach the students 
but also reassure them.
Teachers must boost the students' 
confidence and encourage them 
to follow their passion. When 
teachers are highly involved with 
the students, they not only provide 
better concepts to the students but 
also have a long-term effect on their 
learning process.
The teachers must create a healthy 
and transparent environment in 
the classroom. Such a positive 
environment encourages students 
to participate and create interest 
in learning. Additionaly, a teacher 
must have a good rapport with the 
students.

15.	 Option (1) is correct.
Explanation: The literacy-rich 
environment enhances a child's 
literary experiences.
The literacy-rich environment 
enhances a child's literacy 
experiences. Therefore, a teacher 
should set up socio-dramatic play 
areas and reading and writing areas.
n	Place furniture to enhance small 

group interactions by allowing 
children to communicate and 
collaborate.

n	Create play areas where children 
can take on different roles within 
the experience.

n	Create indoor and outdoor 
areas where children can 
independently explore books 
or engage in shared reading 
activities.

n	Book reading, writing, drawing 
through dramatic play, science, 
technology, engineering, arts and 
technology (STEAM) experiences 
and providing exciting materials 
and implements should be 
encouraged.

16.	 Option (4) is correct.
Explanation: Textbooks serve as a 
valuable resource and reference 
material in the classroom. They 
provide teachers with instructions, 
ideas, and activities to facilitate 
teaching and learning. Teachers 
can use textbooks as a guide and 
find support for their teaching 
approaches. Additionally, textbooks 
offer a wide range of information and 
serve as a practical resource to create 
meaningful learning experiences in 
the classroom. Therefore, textbooks 
are considered one of the essential 
resources and reference materials 
available to teachers and students.

17.	 Option (2) is correct.
Explanation: Constructivism is a 
learning theory that emphasizes the 
active construction of knowledge by 
learners. It suggests that individuals 
create their understanding and 
meaning through interactions with 
their environment and through 
reflection on those experiences. 
The National Curriculum 
Framework-2005 is based on 
the principles of constructivism, 
recognizing the importance of 
learner-centered approaches, active 
engagement, and the construction 
of knowledge by students.

18.	 Option (3) is correct.
Explanation: Motivation in children 
refers to their inner drive and 
enthusiasm to engage in learning 
and academic tasks. One indicator 
of motivated students is their active 
participation in the learning process, 
which includes asking questions to 
seek clarification from the teacher. 
When students ask questions, 
it demonstrates their curiosity, 
engagement, and a desire to 
understand the subject matter more 
deeply. This active involvement 
indicates their motivation to learn 
and their willingness to actively seek 
knowledge.

19.	 Option (3) is correct.
Explanation: Facilitating children 
to interact with each other on real-
life situations is the most suitable 
approach to improve children's 
learning. This method promotes 
active engagement, collaboration, 
and the application of knowledge 
in practical contexts. By providing 
opportunities for students to 
interact with each other, discuss 
real-life situations, and problem-
solve collectively, they develop a 
deeper understanding of the subject 
matter and enhance their critical 
thinking and communication skills. 
This approach fosters experiential 
learning, allowing students to 
apply what they have learned to 
real-world experiences, making the 
learning process more meaningful 
and memorable. Additionally, 



252�  Oswaal CTET Year-wise Solved Papers

it encourages teamwork among 
students and motivates them 
through exciting and engaging 
interactions. This approach prepares 
students better for their future 
endeavors.

20.	 Option (4) is correct.
Explanation: The discipline that 
has a significant role in a learning 
environment is the kind that helps 
children regulate and monitor 
their own learning. This refers to 
self-discipline and self-regulation 
skills that empower students to 
take ownership of their learning 
process. When children develop 
the ability to regulate and monitor 
their own learning, they become 
more independent, self-directed, 
and responsible for their academic 
progress. They can set goals, 
manage their time effectively, 
identify their strengths and areas for 
improvement, seek resources and 
support when needed, and reflect 
on their learning experiences. This 
type of discipline fosters autonomy, 
critical thinking, and metacognitive 
skills, which are essential for lifelong 
learning and success.

21.	 Option (4) is correct.
Explanation: Heredity and environ-
ment are vital in determining an 
individual's personality develop-
ment. The development of the 
personality depends on the environ-
ment, but the pace of development 
depends on heredity, as each 
individual has a different pattern of 
behaviours and personality.
Hence, the development of children 
is a result of the interaction between 
heredity and the environment.

22.	 Option (2) is correct.
Explanation: The theory of cognitive 
development (Jean Piaget) suggests 
that children move through four 
stages of intellectual development 
and the maturity of children's 
thoughts at each stage—a Child's 
development results from physical 
and cognitive (biological) maturation 
and environmental exposure.
Each stage experiences a different 
type of cognitive functioning.
n	Stage-Sensorimotor. 
	 Age – Birth to 18-24 months.
	 Goal – Object permanence.
n	Stage-Pre-operational.
	 Age – 2 to 7 years old.
	 Goal – Symbolic thought.
n	Stage-Concrete operational.
	 Age – 7 to 11 years.
	 Goal – Logical thought
n	Stage-Formal operational.
	 Age – Adolescence to adulthood.
	 Goal – Scientific reasoning.
Jean Piaget's theory of constructivism 
indicates that humans create 
knowledge by interacting with their 
experiences and ideas.

Constructivism states that learners 
create knowledge rather than take it 
passively.
Constructivist teaching emphasizes 
that learning occurs as learners 
actively construct meaning and 
knowledge rather than passively 
receive information.
Hence, it does not support the 
statement that learning occurs 
through constant practice.

23.	 Option (1) is correct.
Explanation: Stage 3 (Pre-operatio-
nal. Age-2 to 7 years old) of Jean 
Piaget's development theory is 
characterized by the appropriate use 
of logic.
The pre-operational period has two 
sub-stages:
The symbolic function substage 
(between 2 and 4 years of age) is 
characterized by gains in symbolic 
thinking, in which the child can 
represent an object mentally that 
is not present, and dependence on 
perception in problem-solving.

24.	 Option (2) is correct.
Explanation: Play acting provides 
a good effect in learning number 
and word concepts and drill 
work in the elementary grades. 
In addition, children derive 
cooperation, teamwork, and mutual 
understanding as essential values 
from play.
Play is not only a pedagogical 
device, but it is nature's plan of 
growth and development for every 
individual-children or adult.
Play engaged in for the satisfaction 
resulting from the activity itself. Play 
is characteristic of infancy, the period 
of individual learning capacity. In 
children, play consists of immature 
manifestations of innate tendencies.
This tendency is so powerful that it 
drives the individual into activity. 
Adults play to satisfy their needs 
and purposes. Most often, they play 
certain games for self-satisfaction 
and social approval.
It is an excellent factor in physical 
and mental development. Play is a 
good incentive to learn, especially in 
the lower grades. It also has moral 
advantages. Therefore, elementary 
school teachers should utilize the 
tendency or desire to play as a 
factor in the child's mental, physical, 
emotional, social and moral 
development.
Hence, it is more than just a pleasant 
way to spend time.

25.	 Option (3) is correct.
Explanation: Creative thinking in 
classrooms changes the in which 
students approach a problem.
It allows them to think out of 
the box, experiment and produce 
innovative ways to find solutions to 
various problems.

It Improves communication skills.
It enables learners to generate 
original ideas free of any 
preconceived notions.
In the given correct answer 'What 
are the different ways in which we 
can solve this?' students can think 
critically by means of analytically.
We should give questions starts with 
'how', 'why'.  so, they can think in 
different directions.
Hence, choosing activities that 
provide scope for insightful and 
divergent answers promotes 
creativity.

26.	 Option (4) is correct.
Explanation: Progressivists believe 
people learn best from the facts 
most relevant to their lives. Hence, 
the curricula are planned based 
on students' needs, experiences, 
interests, and abilities.
In the progressive classroom based 
on exploration and experience, 
teachers act as facilitators, and 
students explore their physical, 
mental, moral, and social growth. 
The teacher may include small 
groups debating, custom-made 
activities, and learning stations to 
create learning.
Hence, in a progressive classroom, 
learners play an active role in their 
learning.

27.	 Option (2) is correct.
Explanation: Progressivists believe 
people learn best from the facts 
most relevant to their lives. Hence, 
the curricula are planned based 
on students' needs, experiences, 
interests, and abilities.
In the progressive classroom based 
on exploration and experience, 
teachers act as facilitators, and 
students explore their physical, 
mental, moral, and social growth. 
The teacher may include small 
groups for debating, custom-made 
activities, and learning stations to 
create learning.
In the terms of co-operative 
learning, students may work in 
groups to enhance their knowledge 
and build their concepts.
Hence, in a progressive classroom, 
learners play an active role in their 
learning.

28.	 Option (4) is correct.
Explanation: Kohlberg's theory of 
moral development focuses on how 
children develop morality and moral 
reasoning. It suggests that moral 
development occurs in six stages 
and three levels and that moral logic 
primarily focuses on seeking and 
maintaining justice. As the child 
grows old, their moral understanding 
develops from obeying the set rules 
defined by society. However, as a 
child matures, he becomes mature 
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to comprehend and differentiate 
between right and wrong.
Lawrence Kohlberg's theory of 
cognitive-moral development 
focuses on thinking about moral 
issues rather than moral values. 
Moral development is invariant; 
individuals go through the stages 
one at a time and are in a fixed 
order, but some may not reach the 
final stage.
He also concluded that the order 
of stages is universal across all 
cultures. His theory has supported 
an association between cognitive 
maturity and moral maturity.

29.	 Option (2) is correct.
Explanation: The Zone of Proximal 
Development (ZPD) Given by the 
Lev Vygotsky where it can defined 
as the the space between what a 
learner can do without assistance 
and what a learner can do with 
adult guidance or in collaboration 
with MKO (More Knowledgeable 
Other) like peers or teachers.

30.	 Option (1) is correct.
Explanation: Androgyny' comes 
from the Greek word andros, 
meaning 'man' and gyne, meaning 
'woman'.
'Gender' denotes the sexual 
distinction between males and 
females that combine biological, 
cultural, historical, psychological, 
and social factors.
An androgynous person is, therefore, 
one who has both masculine 
and feminine characteristics. 
Androgyny relates to sex-role 
flexibility and adaptability. One 
primary underlying assumption 
of this perspective of sex roles 
is that the individual may act in 
either a traditionally masculine or 
a traditionally feminine manner, 
depending on situation constraints 
and needs.
An androgynous person has 
a balance high masculine and 
feminine traits without employing 
a gender schema; circumstances 
dictate which trait – feminine or 
masculine – is exhibited by an 
androgynous person.

Mathematics
31. 	 Option (3) is correct

Explanation: Shopkeepers use 
mathematics as they have to 
maintain their accounts and are 
suppose to do mathematical 
calculations.
There are different strategies that 
can be used like:
n	Asking shopkeepers about 

the method that they use and 
compare that with other methods.

n	Teachers can used this as an 
alternative to solve problems.

n	This method can be useful in 
solving mathematical problems.

32.	 Option (2) is correct
Explanation: A heterogeneous group 
of children refers to the group where 
students have different abilities and 
interests and knowledge.
A teacher can handle such a group 
by grouping students of different 
abilities so that they can learn 
and enhance their knowledge by 
learning from each other.
Peer tutoring of the same age group 
can also be done for heterogeneous 
group where the student who is 
good in a particular field or subject 
can tutor others.   

33.	 Option (2) is correct.
Explanation: Learning outcomes 
refer to what are the results of a 
learning process or activity. It can be 
calculated through learning process 
or activity. It can be calculated 
through an exam and are expressed 
as knowledge of a person.
Learning outcomes are developed:
n	to make learner understandable 

and identify different patterns of 
shapes and numbers.

n	to make learner define class-
wise competencies and skills that 
needs to be achieved.

n	to make learner interpret from 
data based on his/her knowledge.

n	to make learner understandable 
and different methods to solve a 
mathematical problem, etc. 

34.	 Option (3) is correct.
Explanation: Active learning 
classroom refers to the classroom 
where different learning activities 
were organised by teachers so that 
children can learn in a practical 
manner.
The features are :
n	Students can learn at their own 

speed.
n	Students are more involved in 

such classroom.
n	It is self as well as group learning 

process.
n	They have freedom in their 

learning.
n	Students can explore now things.

35.	 Option (2) is correct
Explanation: Before a student learns 
how to read and write  numbers, he 
should know how to count. Reciting 
number names is different from 
counting.
Reciting number does not mean that 
the children knows counting.
The methods of developing the skill 
of counting are:
Creating groups: In this method, 
teachers divides objects in different 
groups and asks students to count 
the number of objects in each group.
One-to-One Correspondence: 
In this method, a teacher uses 

different activities on a daily basis 
to develop the concept of counting. 
For example: a teacher can ask the 
student to check if the number of 
chairs in  the classroom is equal to 
the number of students or not.
Here, the teacher is setting up 
chairs and students in one-to-one 
correspondence
Seriation: It means arranging objects 
on the basis of their size, shape etc.

36.	 Option (1) is correct
Explanation: According to the 
question, it can be seen that child 
has used rectangle’s area, which is, 
length × breadth as the general idea 
of the area of any closed shape. 
Here, the child is not confused 
between  the area and perimeter.

37.	 Option (2) is correct.
Explanation:  Mathematics refers 
to the study  of shapes, numbers, 
patterns etc. People use mathematics 
in their  day-to-day  lives and its a 
logical subjects.
It is a not true that girls are weaker 
in mathematics.
Everyone can learn mathematics.
There are different ways to learn  
mathematics. Therefore, it is not true 
that it can be learnt only by rigorous 
practice.

38.	 Option (4) is correct.
Explanation: Deductive method: 
It is a teaching method where the 
student accepts the law and then 
try to implement it on different 
examples.
Laboratory method: It is a method 
where student gains knowledge 
through practical experience on by 
doing practice. 
Lecture method: It is a method 
where students learn based on the 
lecture given by the teacher.
Inductive method: It is a method 
where students use constructive 
objectives, measurement etc to 
discover relationship between 
things.
Therefore, in this question, the 
teacher is using inductive method 
to make students understand the 
concept of theorem.

39.	 Option (1) is correct.
Explanation: A concept map helps 
in taking strategic actions.
It is a tool that helps in planning the 
future activities in such a manner 
that it will provide a great learning 
experience to the student.
It helps in the linking of prior 
knowledge to new instruction.
It helps in understanding different 
concepts of mathematics by linking 
them and deriving a relationship 
between them.
These should be constructed by both  
teacher  and the learner.



254�  Oswaal CTET Year-wise Solved Papers

40.	 Option (2) is correct.

Explanation:
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41.	 Option (1) is correct.
Explanation: 
Parallelogram has opposite parallel 
sides and length is equal.

Parallelogram Square and
Parallelogram

Rectangle and
Parallelogram

Rhombus and
Parallelogram

As per the above figures, all of them 
are parallelogram.

42.	 Option (1) is correct.
Explanation:
	 (11 × 1000) + (11 × 100) + 11
			   = 11000 + 1100 + 11
			   = 12111	

43.	 Option (3) is correct.
Explanation: 

Let’s assume point C, D and E are on 
number line as shown above.
⇒		  DC	 = 39,000 – 25,000
			   = 14,000
The number of divisions as per 
number line = 7
Therefore, value of each division

			 
=

 

14 000
7
,

 
=2,000

Now, Considering ED
		  ED	 = 61,000 – 39,000
			   = 22,000
	The number of divisions = 11
Value of each division

			 
=

 

22 000
11

2 000
,

,=

Now, AB has 11 division between 
them.
Therefore, distance between A and B
			   = 11 × 2,000
			   = 22,000 

44.	 Option (4) is correct.
Explanation: 
Total amount of Sugar
	 = Number of Packets
� × Size of one Packet

Here,

	 Total amount of sugar	 = 3
1
4

	 Size of one packet	 = 1
16

Therefore
	
3

1
4 	

=
 
Number of Packets 

� × 1
16

⇒ 		 Number of Packets

			   =

 

3 1
4

1
16

			 
= 13

4
16
1

52� �

45.	 Option (4) is correct.
Explanation: 
Time at the start of journey		
			   = 18 : 40
Time at the end of journey		
			   =  22 : 20
Time taken in completing  the 
journey		  = 21 : 80 – 18 : 40
			   = 3 hrs 40 minutes. 

46.	 Option (3) is correct.
Explanation: The sum of correct 
options have to be equal to 2,000.
(4, 4)
⇒	 (200 × 4) + (300 × 4)
			   = 800 + 1,200
			   = 2,000
(7, 2)
⇒	 (200 × 7) + (300 × 2)
			   = 1,400 + 600
			   = 2,000
(6, 3)
⇒	 (200 × 6) + (300 × 3)
			   = 1,200 + 900
			   = 2,100
(1, 6)
⇒	 (200 × 1) + (300 × 6)
			   = 200 + 1800
			   = 2,000
Therefore, as per the above 
calculation. Option (3) is the answer.

47.	 Option (1) is correct.
Explanation: Here, we will take 
approximation in decimal system
⇒ 	 	 7.1 	≈ 7
		  3.85 	≈ 4
		  9.09	 ≈ 9
Therefore, equation will be

		

7 1 3 85
9 09

. .
.
×

	
= 7 4

9
×

48.	 Option (2) is correct.
Explanation: 
	 Area of a square	 = a × a
	 Area (given)	 = 4 = a × a
⇒	 a × a	 = 4 sq. units
⇒	 a2	 = 4
⇒	 a	 = 4 2=  units	
Perimeter of a rectangle	 = 2 (l + b)

Here,
	 length of rectangle (l)	 = 4 grids	

	 = 4 × 2

		  = 8 units	
breadth of rectangle (b)	 = 2 grids	

	 = 2 × 2
		  = 4 units
Therefore,

	
Perimeter	 = 2 (l + b)		

	 = 2 (8 + 4)		
	 = 2 (12)

			   = 24 units
49.	 Option (4) is correct.

Explanation:
	 Number of subjects (n)	 = 5
	 Marks Obtained	 = �75, 75, 75, 

75, 75
Here	 n 	= 5 which is odd
	Median where n	 = odd

		
=

 

n th��
�
�

�
�
�

1
2

term

		
=

 

5 1
2
��

�
�

�
�
�

 
		  = 3rd term
Here, 3rd term is 75.

50.	 Option (1) is correct.
Explanation:
The 1st option is a pyramid in 
triangular base.

 

⇒

 
If we rotate the outer triangles as 
shown above, than the figure given 
in question will be formed.

51.	 Option (1) is correct.
Explanation: Let the total value of 
pie chart be x.

Given :	  Red	 =
 

1
2  

of x = 40

⇒
		   

1
2

x
	
= 40

⇒		   x	 = 80

Now, 	 White	 =
 

1
8  

of x.

		   	
= 1

8  
(80) = 10

52.	 Option (4) is correct.
Explanation:
Top view refers to the view when 
the object is seen from the top
Here the top view will be :

53.	 Option (1) is correct.
Explanation: 
I. 	Number of Packets	 = 200
	 Cost of each Packet	 = 250		

Total Cost	 = 200 × 250
			   = ` 50,000
II.		  1 dozen	 = 12
		  Total packets	 = 20 × 12
			   = 240
	 Cost of each packet	 = 250
		  Total Cost	 = 240 × 250
			   = ` 60,000
Therefore, Cost of 20 dozen is more.
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54.	 Option (4) is correct.
Explanation:
Given number series = 1 – 1 + 1 – 1 
+ 1 – 1...........
Here, the number is same, changes  
sign  at every  position and sign is 
same at alternate places.
Therefore,
		  sum of first  two terms	 = 
1 – 1 = 0
		  sum of next two terms	 = 
1 – 1 = 0
Therefore, the value of series will be 
zero.

55. 	 Option (2) is correct.
Explanation:
The areas of assessment in 
mathematics are :
n	Mathematical reasoning
n	Mathematical communication
n	Rules and Concepts
n	Social personal qualities
n	Solve questions using 

mathematical knowledge.
Mathematics assessment in primary 
stage should focus on :
n	Mathematical language 

development
n	Mathematical skills development
n	Concept development and their 

application
n	Use of different methods to solve 

problem etc.
Therefore, preciseness in answering 
mathematical problem is not focus at 
primary stage. 

56. 	 Option (1) is correct.
Explanation: Mathematics refers 
to the study  of shapes, numbers, 
patterns etc. People use mathematics 
in their day-to-day lives and it is a 
logical subject.
The sequence  that should be 
followed in development of a 
mathematical concept in elementary 
classes is :
1.	 Providing learning experiences: 

It plays an important role in the 
process. The aim of providing a 
good learning experience is :
n	To help children understand 

difficult problems in bits.
n	To develop  vocabulary among 

children.
n	To make learning imaginative, 

so that children can easily 
understand the concept.

n	To make students develop  and 
understand the relationship of 
mathematics  with our day-to-
day lives.

n	To help children in 
experiencing the process of 
problem solving. 

2. 	Using language to explain: Here, 
mathematics language and tools 
should be used to make  students 
understandable and relate to the 
concepts of mathematics.

3. 	Drawing pictures: With the help 
of learning experience, a student 
learns how to draw different 
shapes and pattern by using 
different  theorems.

4. 	Using symbolic representation: 
It helps students in explaining 
the relationship with the 
mathematical symbols, tools and 
language.

57. 	 Option (4) is correct.
Explanation:
n	In the question, it can be seen 

that the student  has subtracted 
smaller digit from larger digit one 
by one.

n	It shows that the student’s 
basic concept of arithmetic  and 
mathematics  is clear  but has 
misconception about the place 
value, that is, subtraction  that 
carry 1 in hand. 

58. 	 Option (4) is correct.
Explanation: The steps in the cycle 
of learning and assessment are:
1. 	Planning and Organization of 

teaching learning assessment: 
This step is completed by the 
teacher. The things to be kept in 
mind during the process are:
n	Analysing the content of the 

course. 
n	Deciding the weight-age that 

needs to be given to different 
objects. 

n	Deciding the level of difficulty 
of assessment. 

n	Deciding the weightage to be 
given to different topics and 
questions.

2. 	Teaching-Learning integrated 
with assessment: Here, teacher 
integrates the teaching-learning  
process with the assessment.
n	Initially, the process of 

evaluation was followed 
to grade or rank students. 
But now, it has changed  to 
evaluation alongwith learning 
activities that will develop 
skills in a better way in 
students.

3. 	Developing progress reports: 
Here, the teacher compiles all 
the academic and development 
reports to find the learning 
progress of a student. 
n	Teachers use different tools 

like assignments, tests, 
portfolios etc.

4. 	Reporting and Communicating 
Feedback: Here, the teacher 
monitors guides and provides the 
feedback of children’s learning 
and progress. It helps teachers in 
analysing the methods that can 
be more effective in the learning 
process.

59. 	 Option (4) is correct.
Explanation:
n	In Roman numerals, there is 

symbolic representation from left 
to right. It starts with symbol that 
represent the largest number for  
example—XXV, V etc.

n	It is more difficult to write than 
Arabic numerals.

n	Roman numerals does not use 
place value, so difficult for 
calculations.

n	The representation of roman  
numerals in complicated as 
compare to Hindu-Arabic  
numerals.

60.	 Option (2) is correct.
Explanation:
n	It's the responsibility of a teacher 

to create such an environment  
that will help students  to grab 
and understand mathematical 
concepts practically. For example: 
through observation a student 
can easily understand the 
properties of shapes.

n	It is one of the best ways to learn 
and also  develop reasoning skills 
and critical  thinking  among 
students.

Environmental Studies
61. 	 Option (2) is correct

Explanation: The Golconda Fort 
was actually built by the Kakatiya 
dynasty during the 13th century. It 
is located in Hyderabad, Telangana, 
and stands atop a granite hill. The 
fort served as a significant center 
for trade and administration in the 
region and played a crucial role in 
the history of the Deccan region of 
India. It is known for its impressive 
architecture, including the intricate 
gateways, bastions, and the famous 
Fateh Rahben gun.

62. 	 Option (1) is correct
Explanation: 

		
Density	 =

 

Mass
Volume

		  Density	 = 15g/ml
		  Volume	 = 3 ml
So,		  Mass	 = 15 × 3 = 45 g

63. 	 Option (4) is correct
Explanation: A scalar quantity is a 
quantity that only, has magnitude 
and no direction. Mass is an example 
of a scalar quantity, since it is 
measured in terms of its magnitude 
only, without considering any 
specific direction.

64. 	 Option (4) is correct
Explanation: Opaque objects are 
objects that do not allow light to 
pass through them. They block the 
transmission of light, causing it to 
be either absorbed or reflected. An 
example of an opaque object is a 
mirror, which reflects light and does 



256�  Oswaal CTET Year-wise Solved Papers

not allow it to pass through. Opaque 
objects appear solid and do not 
allow objects or images to be seen 
through them.

65. 	 Option (3) is correct
Explanation: 
	 Mass	 = 10 kg
	 Acceleration of gravity	 = 9.8 m/s2

	 Weight	 = m × g
		  = 10 × 9.8
		  = 98N

66. 	 Option (1) is correct
Explanation: The rate of dissolution 
of a solute depends on several 
factors, including:
1.	 Surface area: Increasing the 

surface area of the solute by 
breaking it into smaller particles 
can accelerate the dissolution 
process.

2.	 Temperature: Higher tempera-
tures generally result in faster 
dissolution rates, as they provide 
more energy for the solute 
particles to interact with the 
solvent.

3.	 Agitation or stirring: Stirring 
the solvent enhances the contact 
between the solute and solvent, 
promoting faster dissolution.

67. 	 Option (3) is correct
Explanation: Providing children 
with hands-on activities is beneficial 
for creating a lasting impact on their 
minds. To sensitize students to the 
importance of tree conservation, 
Sushma can encourage them to 
adopt and nurture a plant. This 
active participation does not only 
fosters a sense of responsibility, 
but also leads to higher levels of 
knowledge retention. By engaging in 
the practical experience of caring for 
a plant, students can develop deeper 
understanding and appreciation for 
the conservation of trees.

68. 	 Option (3) is correct
Explanation: The survey method is 
a valuable technique that enables 
us to gather data from a diverse 
group of individuals, allowing 
for a comprehensive assessment 
and informed decision-making. In 
the context provided, conducting 
a survey among community 
members in groups can help gain 
insights into the diseases prevalent 
in the neighborhood, as well as 
their associated symptoms and 
treatments. By collecting information 
directly from the affected 
population, healthcare professionals 
and policymakers can better 
understand the health concerns and 
tailor interventions accordingly. The 
survey method thus plays a crucial 
role in addressing community health 
issues and promoting evidence-
based strategies.

69. 	 Option (2) is correct
Explanation: The inquiry approach 
would be a suitable method for 
Priya to employ in her teaching for 
several reasons:
1.	 It promotes the development of 

creative ideas and encourages 
divergent thinking among 
learners.

2.	 It emphasizes the connection 
between previous knowledge 
and the generation of new 
knowledge.

3.	 It fosters the development of 
higher-order thinking skills, such 
as critical thinking and problem-
solving.

4.	 It enables the creation of 
meaningful connections between 
real-life experiences and the 
subject being taught.

By adopting the inquiry approach, 
Priya can create an engaging and 
interactive learning environment 
that encourages active participation, 
exploration, and the development 
of valuable cognitive skills in her 
students.

70. 	 Option (2) is correct
Explanation: The community 
is a valuable learning resource 
that offers real-life experiences, 
factual information, and wealth of 
knowledge. By engaging with the 
community, learners can enhance 
their social development, gain 
exposure to diverse people, and 
become more aware of various 
issues and problems present in 
society. This firsthand interaction 
with the community helps learners 
connect classroom learning with 
the real world, fostering deeper 
understanding and appreciation of 
the broader context in which they 
live.

71. 	 Option (4) is correct
Explanation: Going beyond the 
textbook means connecting class-
room learning with the real world 
to gain deeper understanding of 
concepts. By relating information 
and objects to the outside world, 
students can develop clearer and a 
more accurate picture of the subject. 
This approach helps raise awareness 
about society and its related issues, 
fostering a sense of relevance and 
practicality in their education. It 
encourages students to explore and 
critically analyze the world around 
them, promoting holistic and 
comprehensive learning experience.

72. 	 Option (2) is correct
Explanation: In this scenario, the 
teacher's approach to learning is 
not inclusive as it relies on the 
teacher providing all the answers 
and promoting passive learning 
for the students. Additionally, the 

definition of family provided by 
the learners is inappropriate and 
reflects the influence of the teacher's 
words on the learners. A more 
inclusive approach would involve 
encouraging active participation, 
critical thinking, and allowing 
students to construct their own 
understanding of concepts through 
collaborative discussions and 
exploration of diverse perspectives.

73. 	 Option (4) is correct
Explanation: Co-curricular 
activities in EVS refer to activities 
that promote learning through 
experiential means, going beyond 
a traditional teacher-centered 
classrooms. Examples of such 
activities include picture reading, 
field visits, and utilizing real-life 
contexts. These activities engage 
learners by capturing their attention 
and generating interest in the 
subject. They provide opportunities 
for hands-on exploration, critical 
thinking, and the application of 
knowledge in real-world contexts, 
enhancing students' understanding 
and making the learning process 
more meaningful and enjoyable.

74. 	 Option (4) is correct
Explanation: Holistic learning refers 
to the comprehensive development 
of a child in both academic and 
non-academic areas. The EVS 
curriculum facilitates this by offering 
a thematic approach that makes 
the topics relatable to students. It 
also promotes inclusivity, ensuring 
that it is accessible to learners with 
diverse abilities. Moreover, the 
curriculum is integrated, breaking 
down traditional subject barriers 
and emphasizing the overall 
development of learners, fostering 
their cognitive, emotional, social, 
and physical growth.

75. 	 Option (2) is correct
Explanation: The intention is to 
raise children's awareness and foster 
empathy towards snake charmers, 
highlighting that it is their ancestral 
profession and that they do not 
harm the snakes. Snake charmers 
take care of the snakes and extract 
venom for the production of life-
saving antivenom. This practice 
plays a crucial role in mitigating the 
impact of snake bites and saving 
lives. It is important to emphasize 
the preservation of both human 
livelihoods and the conservation 
of snake species in a sustainable 
manner.

76. 	 Option (1) is correct
Explanation: The midday meal 
program provides valuable teaching 
and a learning opportunity as 
it ensures that students receive 
proper nutrition, enabling them to 
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actively participate in the classroom. 
This initiative primarily benefits 
elementary school children, fostering 
an inclusive classroom environment 
regardless of their caste, breed, a 
race, or other factors. By addressing 
the nutritional needs of students, the 
mid-day meal program contributes 
to their overall well-being, health, 
and educational outcomes.

77. 	 Option (2) is correct
Explanation: Learning without 
stress is the title of Prof. Yash Pal's 
National Advisory Committee 
(NAC) Report.
This report was referred to as the 
Yash Pal Committee Report.
In order to overhaul India's higher 
education system, the Indian 
government's Ministry of HRD 
established the NAC in March 1992.
The Yashpal Committee's Report
Reducing the weight or burden on 
Indian children is the goal.
It notes that education has turned 
into a chore for students. It aims 
to start a systematic transition that 
ensures everyone receives a high-
quality education and makes exams 
flexible and non-threatening.
Thus, it is evident that in the 
context of environmental studies, 
the necessity to lessen the load of 
misunderstanding entails "learning 
without burden."

78. 	 Option (2) is correct
Explanation: Group learning is 
highly encouraged in EVS as it fosters 
cooperation and reduces the burden 
of individual learning. Through 
collaborative activities, children 
actively participate and learn 
from each other. Group learning 
also promotes the development 
of social skills, patience, effective 
communication, and critical thinking 
abilities. It allows students to engage 
in discussions, share ideas, and gain 
different perspectives, enhancing 
their overall learning experience.

79. 	 Option (2) is correct
Explanation: BALA stands for 
Building as a Learning Aid. It is 
an approach that aims to create 
a classroom environment that is 
engaging, a childcentered, and 
interactive. By incorporating various 
hands-on activities, visual aids, and 
interactive tools, the BALA approach 
encourages active participation of 
learners in the classroom. It helps 
students to connect with the subject, 
explore concepts through practical 
experiences, and enhance their 
overall learning experience in fun 
and an interactive way.

80. 	 Option (1) is correct
Explanation: Alternative frameworks 
refer to proposing alternative perspec-
tives or approaches to established 

explanations or concepts. It involves 
critically examining the existing 
frameworks and offering different 
interpretations or models that can 
provide a deeper understanding or 
a different view-point. It encourages 
critical thinking, a creativity, and the 
exploration of diverse perspectives to 
enhance learning and foster a broader 
understanding of the subject.

81. 	 Option (4) is correct
Explanation: The belief that women 
are weaker than men is a historical 
misconception perpetuated by 
societal stereotypes. In the past, 
women were often confined to 
traditional gender roles, limited 
domestic responsibilities such 
as cooking and laundry. This 
patriarchal system in India restricts 
women from pursuing work 
outside the home and promoted the 
perception of men as the stronger 
gender. However, it is essential 
to challenge these gender biases 
and recognise that strength and 
capabilities are not determined by 
gender but vary among individuals.

82. 	 Option (2) is correct.
Explanation: With respect to Bihar 
in India, the location of Jammu and 
Kashmir is north, and the location 
of Goa is southwest. Jammu and 
Kashmir is situated in the northern 
part of India, while Goa is located in 
the southwestern coastal region.

83. 	 Option (3) is correct
Explanation: The process of liquid 
changing into gas is known as 
evaporation. Factors that affect 
evaporation include:
1.	 Surface area: The rate of 

evaporation increases with an 
increase in the surface area of the 
liquid exposed to the air.

2.	 Temperature: Higher 
temperatures result in a faster 
rate of evaporation, as the 
molecules gain more energy and 
escape from the liquid phase.

84. 	 Option (1) is correct
Explanation: Mapping is a skill 
that involves visually representing 
spatial relationships, including the 
positions, directions, distances, and 
geographical features on a map. It 
helps us understand and navigate 
the physical layout of an area, 
such as landforms, landmarks, and 
boundaries.

85. 	 Option (2) is correct
Explanation: According to the 
National Curriculum Framework 
(NCF) of 2000, Environmental 
Studies (EVS) should be taught 
as an integrated curricular area 
at the primary level instead of 
being taught as separate subjects 
like science and social studies. 
This integrated approach allows 

for a comprehensive exploration 
of the environment, covering 
ecological, social, and scientific 
aspects, promoting a more holistic 
understanding among students.

86. 	 Option (4) is correct
Explanation: Shifting cultivation is 
the type of farming practice where 
farmers leaves a plot of land when 
they find the soil  exhausted due to 
farming or lack of some nutrients. In 
north-eastern region of India, its is 
largely practised. It is also known as 
slash and burn cultivation..  

87. 	 Option (4) is correct
Explanation: Hydropower generated 
from rivers dam is a valuable source 
of renewable energy. While it does 
not cause water or air pollution, it 
has significant environmental and 
ecological impacts. The construction 
of dams can disrupt natural habitats 
and negatively affect marine and 
aquatic ecosystems. Additionally, it 
often results in the displacement of 
indigenous communities who rely 
on rivers for their livelihoods and 
cultural practises.

88. 	 Option (4) is correct
Explanation: Greenhouse effect 
is the trapping of solar energy by 
earth  and radiate it slowly to act as 
warm blanket. It provides suitable 
temperature on earth for life. Some 
of the greenhouse gases are Carbon 
dioxide,  Methane and Water 
vapours.

89. 	 Option (1) is correct
Explanation: Cold deserts in 
India, such as Ladakh, are unique 
geographic regions that experience 
minimal rainfall due to their location 
in the rain shadow of the Himalayas. 
This lack of monsoon influence 
contributes to the arid and cold 
conditions found in these regions.

90. 	 Option (1) is correct
Explanation: The release of sulphur 
dioxide gas by numerous factories 
and industries near the Taj Mahal 
is causing the monument to 
turn yellow. This gas is not only 
responsible for the discoloration but 
is also harmful to the environment. 
When it combines with moisture in 
the atmosphere, it forms acid rain, 
which can further damage the Taj 
Mahal's structure.

Language: English
91.	 Option (1) is correct.

Explanation: A cloze test is a way of 
testing comprehension by removing 
words (usually every 5th word or 
so) from a passage or sentence and 
then asking the reader/learner to 
supply the missing elements.
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92.	 Option (3) is correct.
Explanation: An emphasis on 
language structure for teaching 
writing is typically a four-stage 
process:
1.	 Familiarisation: learners are 

taught specific grammar and 
vocabulary, usually through a 
close reading of a text.

2.	 Controlled writing: learners 
manipulate fixed patterns, often 
from substitution tables.

3.	 Guided writing: learners imitate 
model texts.

4.	 Free writing: learners use their 
acquired patterns to write essays, 
letters, and more.

The last stage is advanced writing, 
where the writer feels confident 
enough to scribble his thoughts on 
paper continuously.

93.	 Option (4) is correct.
Explanation: According to the 
Alphabetic method, familiarity 
with the form and names of letters 
will help children recognize and 
pronounce words. In this method, 
recognition of new words is more 
important than their meanings.
In this procedure, there are five 
sequential units:
1.	 Letter.
2.	 Word.
3.	 Phrase.
4.	 Clause.
5.	 Sentence.

94.	 Option (4) is correct.
Explanation: A rhetorical question is 
asked for effect rather than to get an 
answer though it ends in a question 
mark. It is often used in persuasive 
writing but is also common in 
everyday conversation.
Rhetorical questions are said or 
written to make a point rather than 
get an audience's answer, to prompt 
the audience to consider a topic 
or lend intrigue to an argument. 
Unfortunately, the answer to a 
rhetorical question is usually very 
obvious or the opposite, meaning it 
cannot be quickly apprehended.

95.	 Option (3) is correct.
Explanation: English is the most 
spoken non-native Language in 
India.
English has thus been taught in India 
as a Foreign Language as a Second 
Language apart from English as an 
Additional Language.
From schools to colleges, the learner 
learns English to get a job.
In Commonwealth countries 
like India, English is used as an 
additional/ second/foreign language, 
i.e., English, along with the various 
native languages of the country, is 
used for various purposes.
English continues to serve as the 
language of prestige. Efforts to 

switch to Hindi or other regional 
tongues encounter stiff opposition 
from those who know English well 
and whose privileged position 
requires proficiency in that tongue 
and those who see it as a means of 
upward mobility. The widespread 
knowledge of English is necessary 
for technological and economic 
progress.
Hence, English as a global language 
is spoken in most parts of the world.

96.	 Option (4) is correct.
Explanation: The context of 
Language functions explains the 
context or situation. Language 
functions help readers to understand 
the meaning that the writer wants 
to convey. Therefore, knowing the 
types of language functions implied 
in reading texts is essential.
A language function explains why 
someone says something. For 
example, A teacher has to give 
instructions when teaching a class. 
"Giving Instructions" is the language 
function. Language functions 
require particular grammar.
Hence, a teacher correcting the 
student with appropriate language 
relates to language function with 
politeness.

97.	 Option (1) is correct.
Explanation: Language immersion 
is a method used to teach students 
a second language where language 
during teaching, meaning that most 
of the day, students spend time 
learning, hearing, and speaking in 
a language other than their native 
tongue.
It has been used worldwide for 
the past 50 years, as language 
immersion boosts students' literacy, 
academic achievement, thinking 
skills development, and cultural 
sensitivity. In addition, immersion 
students typically develop greater 
cognitive flexibility, demonstrating 
increased attention control, better 
memory, superior problem-
solving skills, and an enhanced 
understanding of their primary 
language.

98.	 Option (2) is correct.
Explanation: Jerome Bruner's three 
stages of cognitive representation 
are:
1.	 Enactive is a representation of 

knowledge through actions.
2.	 Iconic is the visual summarization 

of images.
3.	 Symbolic representation is the 

use of words and other symbols 
to describe experiences.

The enactive stage appears first and 
involves the encoding and storage of 
information.
For example, a baby moves a rattle 
to produce sound, but he may also 

shake his hand to hear the same 
sound, which may not come but is 
difficult for the baby to understand.
The iconic stage (one to six years) 
involves an internal representation 
of external objects visually through a 
mental image or icon. For example, a 
child drawing a tree with the image 
in his mind of a tree. Symbolic 
representation (seven years and 
up) is when information represents 
a code or symbol, such as language.

99.	 Option (1) is correct.
Explanation: Homographs are words 
with the exact spelling but different 
meanings, whether pronounced the 
same or not.
The word homograph merges homos, 
the Greek word for "same," with 
graph, "to write." If two words are 
written identically but do not share 
a meaning, they are homographs.

100.	 Option (2) is correct.
Explanation: A child's ability 
to decode words is crucial for 
becoming a fluent reader. Therefore, 
reading high-frequency/sight words 
without hesitation will help a child 
to understand better what he reads.
If students need to recognise words 
fluently, they think about the 
sounds of the individual letters and 
combination of letters rather than 
using that energy to make sense of 
the text we read. Since fluent readers 
dedicate little to word recognition, 
most of their capacity is available for 
comprehension.
For Grade One students, the instant 
recognition of the lollipop words is 
a huge step in learning how to read.

101.	 Option (2) is correct.
Explanation: Inductive method 
means that the teacher provides 
texts and examples first to help 
students find the rules and guide 
them in discovery.
The teacher enables children 
to control grammar to express 
increasingly complex ideas as 
teaching grammar needs to 
incorporate talk, reading and writing 
in the classroom.
Introducing children to grammatical 
features and language in context 
will help them internalize these 
principles instead of the ready-made 
solution from a worksheet or a book.
Teaching grammar involves 
investigations, problem-solving, and 
language play to develop children's 
awareness of and interest in how 
language works.

102.	 Option (3) is correct.
Explanation: Hayes and Flower 
(1980) described writing as consisting 
of three primary processes—
planning, translating (i.e., the 
production of text), and reviewing—
all operating under executive control 
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within the constraints of the external 
task environment and the writer's 
long-term memory.
Planning includes the sub-
operations of generating, organizing 
and goal setting. The subprocess of 
reviewing is reading and editing. 
Planning involves retrieving the 
relevant information from long-term 
memory and the task environment. 
This information is used to set 
establish goals and to develop the 
text that will satisfy the goals.
Translating is taking material from 
long-term memory by the writer's 
plans and goals and formulating 
sentences with it.
Lastly, in the reviewing operation 
the goal is to improve the quality 
of the text produced during the 
translation process.

103.	 Option (3) is correct.
Explanation: Seize means suddenly 
and firmly holding someone by a 
part of their body or clothing.
Hence, seizing is an action word.

104.	 Option (2) is correct.
Explanation: A review, in addition 
to a critical evaluation, evaluates 
a publication, product, service, 
or company or a critical take on 
current affairs in literature, politics 
or culture.

105.	 Option (2) is correct.
Explanation: Lexical words include 
nouns, verbs, adjectives, adverbs, 
and sometimes prepositions and 
postpositions, while grammatical 
words or word parts include 
everything else. Grammatical words 
sometimes only partially use all the 
sounds in a language.

106.	 Option (3) is correct.
Explanation: "Castles also served 
as bases of operation for offensive 
attacks. Troops were summoned to, 
organised around, and deployed 
from castles. in this way castles 
served both offensive and defensive 
roles in military operations.
Not limited to military purposes, 
castles also served as offices from 
which the lord would administer 
control over his fiefdom. they would 
address disputes, handle business, 
feast, and enjoy festivities. In this 
way castles served as important 
social centres in medieval England, 
Castles also served as symbols of 
power."
The above lines from the passage 
show that castles were the symbol of 
power, useful for military purposes, 
and important social centres, but 
nowhere it is mentioned that the 
kings used to keep theie horses 
there.

107.	 Option (3) is correct.
Explanation: The following lines 
from the passage, "Castles also 

served as bases of operation for 
offensive attacks. Troops were 
summoned to, organised around, 
and deployed from castles. in this 
way castles served both offensive 
and defensive roles in military 
operations.
Not limited to military purposes, 
castles also served as offices from 
which the lord would administer 
control over his fiefdom. they would 
address disputes, handle business, 
feast, and enjoy festivities. In this 
way castles served as important 
social centres in medieval England, 
Castles also served as symbols of 
power." This makes it clear that 
the passage aims to discuss all the 
purposes of the English castles.

108.	 Option (2) is correct.
Explanation: "Those who constructed 
them took advantage of natural 
features, such as hills and rivers, to 
increase defense. Since, these castles 
were constructed from wood, they 
were highly susceptible to attacks by 
fire. wooden castles were gradually 
replaced by stone, which greatly 
increased the strength of these 
fortifications, however, being made 
from stone did not make these castles 
entirely fireproof. "
The above lines from the passage 
support the statement.

109.	 Option (2) is correct.
Explanation: "Those who 
constructed them took advantage 
of natural features, such as hills and 
rivers, to increase defenses. Since, 
these castles were constructed from 
wood, they were highly susceptible 
to attacks by fire. Wooden castles 
were gradually replaced by stone, 
which greatly increased the strength 
of these fortifications," The above 
statement supports the statement.

110.	 Option (3) is correct.
Explanation: The following line 
from the passage, "The demise of 
castles can ultimately be attributed 
to gunpowder. During the 15th 
century, artillery became powerful 
enough to break through stone 
walls." supports the statement.

111.	 Option (2) is correct.
Explanation: The passage describes 
the Castles' beauty, purpose, 
advantages, and decline. Hence, 
"A short history of castles: The Rise 
and Fall of Castles in England" is an 
appropriate title for the passage.

112.	 Option (2) is correct.
Explanation: The following lines 
from the passage, "Not limited 
to military purposes, castles also 
served as offices from which the 
lord would administer control over 
his fiefdom. they would address 
disputes, handle business, feast, and 
enjoy festivities. In this way castles 

served as important social centres 
in medieval England, Castles also 
served as symbols of power.
The first castle in England of Earth 
and timber. Those who constructed 
them took advantage of natural 
features, such as hills and rivers, 
to increase defenses. since, these 
castles were constructed from wood, 
they were highly susceptible to 
attacks by fire. wooden castles were 
gradually replaced by stone, which 
greatly increased the strength of 
these fortifications."
It supports statements 1, 3, and 4, 
but option two has no mention.
Hence, this is an opinion that it is 
unfortunate that castles no longer 
serve their original purposes.

113.	 Option (4) is correct.
Explanation: Vestige means a 
trace or remnant of something 
disappearing or no longer existing.
Hence, 'reminder' is the word almost 
the same in meaning as vestiges.

114.	 Option (4) is correct.
Explanation: 'Nadir' means the 
lowest or most unsuccessful point in 
a situation.
Hence, the antonym for the word 
'pinnacle' is Nadir.

115.	 Option (2) is correct.
Explanation: Quoting the poem's 
line, "My mother bore me in the 
southern wild, And I am black, but 
O! my soul is white;"
In the above lines from the poem 
"The Little Black Boy" by William 
Blake, the boy tells the reader how 
his mother gave birth to him in the 
southern forest of Africa.

116.	 Option (3) is correct.
Explanation: In the poem, 'The Little 
Black Boy,' the boy tells the reader 
how his mother gave birth to him 
in the southern forest of Africa. So, 
he is black, but only his skin is black 
while his soul is white (whiteness 
represents purity). His spirit (soul) is 
as white as an angel. The black child 
bemoans his skin because it makes 
him appear "bereav'd of light".

117.	 Option (4) is correct.
Explanation: "And we are put on 
Earth a little space,
That we may learn to bear the beams 
of love,"
In the fourth stanza, the mother 
speaks to her little boy, telling him 
that humans have little space to 
learn to bear the giant rays of love. 
They become worthy of God's love 
and illumination.

118.	 Option (3) is correct.
Explanation: "And we are put on 
Earth a little space,
That we may learn to bear the beams 
of love,
And these black bodies and this sun-
burnt face
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Is but a cloud, and like a shady 
grove."
In the above lines, the mother of the 
little black boy says that the black 
bodies and sun-tanned faces are like 
clouds and like shady groves for 
them.

119.	 Option (1) is correct.
Explanation: A simile is a figure of 
speech that compares one thing with 
another thing of a different kind to 
make a description more emphatic 
or vivid by using the comparison 
words (like, as etc.) (e.g., brave as a 
lion ).
The mother says that the black 
bodies and sun-tanned faces are like 
clouds and like shady groves for 
them.

120.	 Option (4) is correct.
Explanation: Blake has pointed out 
the comparison between the black 
and the white boy in this poem. In 
the poem, the little black boy accepts 
his life as a gift from God though 
life is not easy. He is probably an 
enslaved person, so references 
like "bereaved of light," a beast of 
burden destined for an existence of 
hard toil, but the "beams of love" are 
also something that he must "learn 
to bear" point to the fact that the boy 
has low self-esteem. He needs more 
hope for the future and is unhappy 
with his colour.

Language: Hindi

121.	 fodYi (2) mfpr gSA
O;k[;kµlquus vkSj fy[kus dh dq'kyrk 
dk vkdyu djus dk lcls vPNk rjhdk 
gSµlquh xbZ dgkuh dks vius 'kCnksa esa fy[kukA
eq[; fcUnqµ
(i)	 ckyd lqudj vkSj fy[kdj vius 

fopkjksa dks lgh çdkj ls vfHkO;Dr 
dj ldrk gSA

(ii)	 blls ckyd dk Hkk"kkbZ fodkl Hkh 
gksrk gSA

(iii)	 l`tukRed ,oa ekSfyd 'kfDr dk 
fodkl gksrk gSA	

;gka lquuk vkSj i<+uk fopkjksa dks xzg.k djus 
ls rFkk cksyuk vkSj fy[kuk fopkjksa dks 
vfHkO;ä djus ls lacafèkr gSA
fy[kus dh {kerk dk fodkl cksyus] lquus 
vkSj i<+us dh {kerk dh laxfr esa gksuk pkfg, 
D;ksafd ;s pkjks Hkk"kkbZ {kerk;sa ,d nwljs ls 
vr%lacafèkr gksrh gSa rFkk ekuo esa Hkk"kkbZ 
fodkl ds foLrkj dks vko';d xfr çnku 
djrh gSaA
lquh x;h dgkuh dks vius 'kCnksa esa fy[kus 
ls cPpksa dk Jo.k 'kfä vkSj ys[ku dkS'ky 
dk vkdyu ,dlkFk gks tkrk gSA
blls cPpksa esa vkRefo'okl c<+rk gS rFkk 
vfèkxe ds çfr ftKklk Hkh c<+rk gSA

122.	 fodYi (2) mfpr gSA
O;k[;kµlkFkZd i<+rs le; dHkh&dHkh 
okD;ksa] 'kCnksa dh iqujko`fÙk djrk gSA ;g 
Hkk"kkbZ O;ogkj dks n'kkZrk gS fd og le> ds 
lkFk i<+us dh dksf'k'k djrk gSA
eq[; fcUnqµ
(i)	 blls dfBu dkS'ky lqn`<+ gksrk gSA
(ii)	 O;kdjf.kd Kku esa o`f¼ gksrh gSA
(iii)	 Hkk"kkbZ fodkl esa lgk;d gksrk gSA
iBu dkS'ky ds mís';&
n	 fyf[kr lkexzh ds Hkko dks xzg.k djukA
n	 'kq¼ iBu fl[kkukA
n	 fojke] vèkZfojke vkfn fpUgksa dk ç;ksx 

le>kukA
n	 'kCn Hk.Mkj esa o`f¼ djukA
n	 Lokè;k; dh ço`fÙk tkxzr djukA
n	 lgh mPpkj.k] èofu] mfpr cy dk 

ç;ksx vkfn dk Kku nsukA

123.	 fodYi (4) mfpr gSA
O;k[;kµfgUnh Hkk"kk esa vkdyu dk mís'; 
ugha gS fd cPpksa dh Hkk"kk&çxfr dks 
vfHkHkkodksa vkSj vU; f'k{kdksa dks crkukA
fgUnh Hkk"kk esa vkdyu ds mís';µ
(i)	 Hkk"kk lh[kus&fl[kkus dh çfØ;k dks 

mUur cukukA
(ii)	 Hkk"kk dh Hkk"kkxr =qfV;ksa dh gh igpku 

djukA
(iii)	Hkk"kk lh[kus ds lUnHkZ esa çR;sd cPps 

dh fo'ks"k vko';drk dh igpku 
djukA

(iv)	 cPpksa dks viuh xfr ls lh[kus ds 
volj nsukA

fganh Hkk"kk esa vkdyu dk mís';µ
n	çR;sd cPpsa dh vko';drk dh igpku
n	cPpksa dh Hkk"kk&çxfr dks vfHkHkkodksa 

vkSj vU; f'k{kdksa dks crkuk
n	mfpr fn'kk funsZ'k nsuk
n	cPpsa dh =qfV;ksa dks igpku dj lqèkkj 

djuk
n	Hkk"kk lh[kus dh çfØ;k dks mUur cukuk
n	Hkk"kk dk vkdyu dj ekud Hkk"kk ds 

ç;ksx dks crkuk
n	Hkk"kk lh[kus ds lanHkZ esa çR;sd cPps dh 

fo'ks"k vko';drk dh igpku djuk

124.	 fodYi (3) mfpr gSA
O;k[;kµçkFkfed Lrj ij mRÏ"V ys[ku 
dk;Z dk mnkgj.k gSµ fdlh vk¡[kksa ns[kh 
?kVuk dk fyf[kr o.kZu djukA

	 eq[; fcUnqµ
(i)	 ekSfyd vfHkO;fDr esa lgk;d gSA
(ii)	 l`tukRed fodkl esa lgk;d gSA
(iii)	 okLrfod vuqHko ds lkFk Hkk"kkbZ 

dkS'kyksa dks lqxerk ls xzg.k djus esa 
lgk;d gSA

fdlh vk¡[kksa&ns[kh ?kVuk dk fyf[kr o.kZu 
djuk çkFkfed Lrj ij mRÏ"V ys[ku 
dk;Z dk mnkgj.k gS D;ksafd fdlh ?kVuk ds 
fyf[kr o.kZu djus ds nkSjku cPpsA

okLrfod vuqHko ds lkFk Hkk"kkbZ dkS'kyksa dks 
lqxerk ls xzg.k djsaxsaA
rF;ksa dks Lo;a ds futh vuqHkoksa ls tksM+ dj 
vius fopkjksa dks vfHkO;ä djsxsaA
Lora= ,oa ekSfyd vfHkO;fä ds volj çkIr 
dj vius fopkjksa dks [kqy dj j[ksaxsA

125.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk lh[kus ds lUnHkZ esa ;g dFku 
lgh gS fd cPpksa esa Hkk"kk vftZr djus dh 
{kerk tUetkr gksrh gSA
pksELdh dk Hkk"kk fl¼kUrµ
(i)	 budks Hkk"kk fodkl ds tud ds :i esa 

ns[kk x;k gSA
(ii)	 buds vuqlkj ckyd ds O;kdj.k ,oa 

Hkk"kk dks lh[kus dh {kerk tUetkr 
gksrh gSA

(iii)	 ckyd esa Hkk"kk vfèkxzg.k ;U= (LAD) 
gksrk gS] ftldh lgk;rk ls ckyd 
fdlh Hkk"kk dks rhoz xfr ls lh[k ikrs 
gSaA

Hkk"kk ekuo efLr"d dh varfuZfgr {kerk gSA
eu Hkk"kk ds rRoksa dks la'kksfèkr djds fu;eksa 
esa ckaèkrk gS vkSj mlds ckn ge Hkk"kk dks 
vftZr djrs gSaA
pkseLdh l`tukRedrk ij fo"ks'k cy nsrs gSaA
mUgksaus vius fl¼kar }kjk ;g fl¼ fd;k 
gS dh cPpksa ds efLrLd esa LAD (ySaXost 
,fDoftlu fMokbl) yxh gksrh gS ftlls 
cPps Hkk"kk dks vklkuh ls xzg.k dj ldrs gSaA
pkseLdh us fuEu rhu fu;e fuèkkZfjr fd;sµ
n	Hkk"kk ds lkekU; fl¼kUr dks le>uk o 

lkoZHkkSfed O;kdj.k dk fuekZ.k djukA
n	okD; ds fuekZ.k o mlds Kku ds fodkl 

dh çfØ;k dks le>ukA
n	vpsru Kku dk irk yxkus dk ç;kl 

djuk] ftlls ekuo viuh Hkk"kk dk 'kq¼ 
o lQy ç;ksx djrk gSA

126.	 fodYi (3) mfpr gSA
O;k[;kµfMLxzkfQ;k ls çHkkfor cPpksa dks 
eq[; :i ls fy[kus esa dfBukbZ gksrh gSA
fMLxzkfQ;kµ
(i)	 ;g fyf[kr vfHkO;fDr dh ,d lh[kus 

dh v{kerk gS] tks ckyd ds ys[ku 
dh {kerk dks çHkkfor djrh gSA

fMLxzkfQ;k ds y{k.kµ
(i)	 [kjkc fy[kkoV
(ii)	 xyr orZuh
(iii)	 vuqfpr midj.k dks idM+us dk xyr 

rjhdk
fMLxzkfQ;k okys cPpksa esa dsoy fcxM+k gqvk 
gLrys[ku gks ldrk gS] dsoy fcxM+k gqvk 
orZuh (fcuk i<+us dh leL;k)] ;k fcxM+k 
gqvk gLrys[ku vkSj fcxM+k gqvk orZuh nksuksa 
gks ldrs gSaA

127.	 fodYi (3) mfpr gSA
O;k[;kµçkFkfed Lrj dh fgUnh Hkk"kk 
dh ikB~;&iqLrd esa ge fgUnh Hkk"kk dks 
fofoèk :i nsus okyh jpukvksa dks lokZfèkd  
egÙoiw.kZ ekurs gSaA
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eq[; fcUnqµ
(i)	 cPps Nih lkexzh dks i<+ vkSj le> 

ldsaA
(ii)	 Nk=ksa esa Hkk"kkbZ fodkl gks ldsA
(iii)	 fgUnh Hkk"kk dh ikB~;&iqLrd fgUnh Hkk"kk 

f'k{k.k dk egÙoiw.kZ vkStkj gSa ftlds 
ekè;e ls u flQZ cPpksa dk Hkk"kk fodkl 
gksrk cfYd Hkk"kk ,oa lkekftd foe'kZ dks 
c<+kok feyrk gSA

çkFkfed Lrj ds cPps ls vis{kk jgrh gS 
fd os dgh ;k fy[kh xbZ ckr ij viuh 
çfrfØ;k ns lds vkSj ç'u iwN ldsA cPpksa 
dh Hkk"kk bl ckr dk çek.k gS fd os viuh 
Hkk"kk dk O;kdj.k vPNh rjg ls tkursa gSaA 
ij O;kdj.k dh lpsr le> cukus ds fy, 
;g vko';d gS fd cPpksa dks mlds fofHkUu 
igyqvksa dh igpku fofoèk ikBksa ds lanHkZ esa 
vkSj vklikl ds ifjos'k ls tksM+dj djk;h 
tk,A
çkFkfed Lrj ij Hkk"kk lacaèkh ikBîØe dh 
fo'ks"krk,¡µ
n	vFkZ iw.kZ lkexzh gksA
n	cPpksa dh :ph ,oa Lrj ds vuq:i gksA
n	fdlh y{; dks çkIr djus okyk gksA
n	cPpksa dks Hkk"kk dh fyih ls ifjfpr 

djkus okyk gksA
vius ifjos'k esa miyCèk fyf[kr Hkk"kk dks 
i<+us&le>us dh ftKklk mRiUu djkus 
okyk gksA blds fy, ikBî&iqLrdksa dk cPpksa 
ds ifjos'k ls tqM+k gksuk vko';d gSA
iwoZ Kku ls lacafèkr gksA
Hkk"kk dh ckjhfd;ksa dks idM+ ldus ds fy, 
ikBî&iqLrdksa esa fganh Hkk"kk dks fofoèk :i 
nsus okyh jpukvksa dk gksuk vko';d gSA

128.	 fodYi (4) mfpr gSA
O;k[;kµcgqHkkf"kd d{kk esa cPpksa dh Hkk"kk,¡ 
lalkèku ds :i esa dk;Z dj ldrh gSaA
cgqHkkf"kdrkµ

(i)	 ,sls O;fDr tks nks ;k mlls vfèkd 
Hkk"kkvksa dk ç;ksx djrs gSa] mUgsa cgqHkk"kh 
dgrs gSaA

(ii)	 Cywe QhYM ds vuqlkjµßcgqHkkf"kdrk 
dh fLFkfr rc iSnk gksrh gS] tc O;fDr 
fdlh ,sls lekt esa jgrk gS tks mldh 
ekr`Hkk"kk ls vyx Hkk"kk cksyrk gS vkSj 
ml lekt esa jgrs gq, og ml vU; 
Hkk"kk esa bruk ikjaxr gks tkrk gS fd ml 
Hkk"kk dk ç;ksx ekr`Hkk"kk dh rjg dj 
ldrk gSAÞ

cgqHkkf"kdrk ls ykHkµ
(i)	 mPp Hkk"kkbZ cksèk
(ii)	 vfèkd laokn dkS'ky
(iii)	 dq'ky cgqdk;kZRedrk
cgqHkkf"kd d{kk dk vFkZ ml d{kk ls gS tgk¡ 
vyx vyx Hkk"kkvksa okys cPps ,d lkFk 
lkeku f'k{kk xzg.k djrs gSaA cgqHkk"kkokn ds 
ekè;e ls Hkk"kk d{kk esa lHkh fo|kfFkZ;ksa dks 
,d lkFk i<kbZ tk ldrh gSA cgqHkkf"kd 
d{kk esa f'k{k.k çfØ;k ds nkSjku f'k{kd dks 

lnSo fo|kfFkZ;ksa dks viuh ekr`Hkk"kk esa cksyus 
ds volj çnku djus pkfg, rkfd Hkk"kkbZ 
fofoèkrk okyh d{kk esa vkus okyh leL;k;ksa 
dk lekèkku gks ldsA
cgqHkkf"kd d{kkesaHkk"kk ç;ksx ds mís';&
n	 cgqHkk"kh d{kk esa cPpksa dh Hkk"kk,a 

lalkèkuds :i esa dk;Z djrh gSa
n	 f'k{kd dks vkdyu djus esa lgk;d 

gksrh gS
n	 Hkk"kk lh[kus esa lgk;d gksrh gS
n	 fofHkUu Hkk"kkbZ lkfgR; rFkk bfrgkl dh 

tkudkjh nsrh gS
cPpksa dks çkFkfed Lrj dh fo|ky;h f'k{kk 
mudh ekr`Hkk"kk esa blfy, Hkh nsuh pkfg, 
D;ksfd blls f'k{k.k vfèkxe çfØ;k ljy 
,oa Nk=ksa ds fy, lgt gks ldsA bl çdkj 
cgqHkkf"kd d{kk esa cPpksa dh Hkk"kk,¡ lalkèku 
ds :i esa dk;Z dj fofHkUu Hkk"kkvksa ds cPps 
Hkk"kk ds u, volj rFkk vfHkO;fä ds 
fHkUu&fHkUu ekè;e ysdj d{kk esa vkrs gSaA

129.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk lh[kus vkSj vftZr djus esa 
vUrj dk eq[; vkèkkj gSµHkk"kk dk miyCèk 
ifjos'kA
eq[; fcUnqµ
(i)	 Hkk"kk vtZu ,d lgt] LokHkkfod vkSj 

vukSipkfjd çfØ;k gSA ;g Nk=ksa ds 
okrkoj.k esa vUr%fØ;k djds Jo.k 
vkSj vuqdj.k dh çfØ;k dks çHkkoh 
cukrk gSA

(ii)	 ;g HkkokfHkO;fDr esa lgk;d gksrk gSA
euq"; vius fopkjksa dks vfHkO;ä djus vkSj 
lekt ds lkFk lkeatL; LFkkfir djus ds 
fy, ftl çfØ;k }kjk viuh Hkkf"kd {kerk 
dk fodkl djrk gS] og Hkk"kk vfèkxe 
vFkok lh[kh gqbZ Hkk"kk dgykrh gSA ;g ,d 
lpsru çfØ;k gS ftlesa cPps vkSipkfjd :i 
ls fo|ky; ;k f'k{k.k laLFkkuksa esa Hkk"kk ds 
fu;eksa dks lh[krs gSaA
lh[kh gqbZ Hkk"kk dks le>us dh {kerk vfiZr 
djuk rFkk mls nSfud thou esa ç;ksx esa 
ykus dks Hkk"kk vtZu dgrs gSaA ;g ,d lgt 
,oa LokHkkfod çfØ;k gS ftlesa cPps ?kjsyw 
ifjos'k esa Hkk"kk ds fu;eksa dks vklkuh ls 
vkRelkr~ djrs gSaA
Hkk"kk lh[kus vkSj Hkk"kk vftZr djus esa varj 
dk eq[; vkèkkj iw.kZr% ifjos'k ls lEcafèkr gSA
Hkk"kk dks ekius dh {kerk dks Hkk"kk&vkdyu 
dgrs gSa rFkk ge bls Hkk"kk fl[kus vkSj Hkk"kk 
vtZu djus ds varj ds vkèkkj ugha eku ldrsA

130.	 fodYi (2) mfpr gSA
O;k[;kµçkFkfed Lrj ij fgUnh Hkk"kk 
fl[kkus ds fy, lcls vfèkd t:jh gSµd{kk 
esa fçaV le`¼ ifjos'kA
eq[; fcUnqµ
(i)	 blls l`tukRed ,oa jpukRed 'kfDr 

dk fodkl gksrk gSA
(ii)	 ckydksa ds Hkhrj jkspdrk c<+rh gSA
(iii)	 vfHkO;fDr esa lgk;d gksrh gSA

(iv)	 Hkk"kk lEcUèkh fofoèk vko';drkvksa 
dks iw.kZ djus esa lgk;d gSA

fçaV le`¼ ifjos'k ls vk'k; ,sls ifjos'k 
ls gS tgk¡ 'cPpksa dks vius bnZ&fxnZ fp=] 
foKkiu] gksfM±Xl] dSysaMj] cky&lkfgR;] 
lwfp;k¡ vkfn ns[kus&i<+us ds volj feyrs 
gSaA D;ksafd cPps Hkk"kk rc csgrj rjhds ls 
lh[krs gSa tc Hkk"kk dk le`¼ ifjos'k gksA
fçaV le`¼ ifjos'k vfèkxe esa lgk;d lkexzh 
dh rjg dk;Z djrk gS vkSj Hkk"kkbZ d{kk 
dks :phdj cukrk gSA fçaV ;k fp= ns[kdj 
cPps vklkuh ls phtksa dks le> ldrs gSa l 
tSlsµpkWdysV dh QksVks] nks yksx ds chp ds 
laokn dh QksVks] vkfnA

131.	 fodYi (2) mfpr gSA
O;k[;kµcPps cksy&pky dh Hkk"kk dk 
vuqHko ysdj fo|ky; vkrs gSaA bldk 
fufgrkFkZ gS fd cPpksa ds Hkk"kkbZ vuqHkoksa dk 
mfpr ç;ksx fd;k tk,A
eq[; fcUnqµ
(i)	 vfèkxe çfØ;k dks lqn`<+ djus esa 

lgk;d gSA
(ii)	 vkSipkfjd f'k{k.k esa lgk;d gSA
(iii)	 ekr`Hkk"kk dks egÙo nsus esa lgk;d gSA
(iv)	 Nk=ksa esa f'k{k.k ds çfr :fp iSnk 

djrh gSA
cPps vius cksypky dh Hkk"kk ds vuqHko ds 
vkèkkj ij fganh Hkk"kk ds chp lEcUèk LFkkfir 
dj fganh Hkk"kk dks vklkuh ls lh[k ldrs 
gSa vkSj viuh Hkk"kkbZ Kku dks c<+k ldrs gSaA 
cPpksa dk Hkk"kkbZ fodkl tUe iwoZ gh vkjaHk 
gks tkrk gSA cPpksa ds Hkk"kk fodkl esa ifjokj 
rFkk okrkoj.k dk eq[; ;ksxnku gksrk gS l 
fdlh {ks= fo'ks"k esa cksyh tkus okyh Hkk"kk dks 
cksyh vFkok vke cksypky dh Hkk"kk dgrs gSA 
;g Hkk"kk dk vukSipkfjd :i gksrk gS ijUrq 
Hkk"kk fodkl esa bldh egÙoiw.kZ Hkwfedk gksrh 
gSA vyx&vyx Hkk"kkbZ ifjos'k ls vkus okys 
cPpksa ds vuqHko Hkh vyx&vyx gksrs gSaA 
cPps dk vkSipkfjd Hkk"kk f'k{k.k foèkky; 
vkus ij vkjaHk gksrk gSA

132.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk lh[kus&fl[kkus esa ge lcls 
vfèkd egÙoiw.kZ lkekftd vUr%fØ;k dks 
ekurs gSaA
okbxksRLdhµ
(i)	 ;g ,d :lh oSKkfud FksA
(ii)	 bUgksaus lkekftd&lkaLÏfrd fl¼kUr 

dk çfriknu fd;kA
(iii)	 Hkk"kk lh[kus esa lkekftd vUr%fØ;k 

dk gksuk vR;Ur vko';d gSA
(iv)	 lkekftd vUr%fØ;k ds QyLo:i 

gh cPps vius Hkkoksa vkSj fopkjksa dks 
vklkuh ls vfHkO;Dr dj irs gSaA

Hkk"kk lh[kus fl[kkus esa f'k{kd rFkk Nk=ksa 
nksuksa dh leku :i ls Hkkxhnkjh gksuh 
pkfg,A 2005 esa ,u-lh-,Q- us ;g Li"V dj 
fn;k Fkk fd] fo|kfFkZ;ksa dh lh[kus dh fØ;k 
esa mudh Hkkxhnkjh] lh[kus lacaèkh loksZÙke 
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ifj.kke ikus dh dqath gSA bu lc ds 
vfrfjä lc Nk= leku #i cqf¼eku ugha 
gksrs gSaA
lkekftd vUr%fØ;kµlekt esa yksxksa ds 
lkFk ckrsa djus vkSj fopkjksa ds vknku çnku 
djus ls Hkk"kk dk lEiw.kZ fodkl gksrk gS l 
blfy, ;g Hkk"kk lh[kus&fl[kkus esa lcls 
vfèkd egÙoiw.kZ gSA
n`'; JO; lkexzhµ;g fnO;kax vkSj ean 
cqf¼ cPpksa ds fy, cgqr gh ennxkj gksrk 
gSA ohfM;ks ns[k dj cPps fdlh Hkh pht dks 
vklkuh ls le> ldrs gSa rFkk blls Jo.k 
'kfä dk fodkl gksrk gSA
cky lkfgR;µiBu 'kfä vkSj Hkk"kk ds 'kq¼ 
ç;ksx djus dh {kerk dk fodkl gksrk gSA
laKkukRed fodklµKkusfUæ;ksa ds ekè;e 
ls ge txr dks tkuus le>us dh dksf'k'k 
djrs gSa] mls gh laKku dgrs gSa laKku dk 
vFkZ gksrk gS tkuuk l laKkukRed fodkl 
dk fl¼kar thu fi;kts us fn;k FkkA

133.	 fodYi (4) mfpr gSA
O;k[;kµfgUnh Hkk"kk f'k{kd dk ;g ç;kl 
gksuk pkfg, fd os cPpksa dh Hkk"kk lEcUèkh 
lgt jpuk'kfDr dks c<+us ds volj nsaA
eq[; fcUnqµ
(i)	 dgkuh rFkk dfork ys[ku ds fy, 

çksRlkfgr djuk pkfg,A
(ii)	 ikB~;&iqLrd ds laoknksa dks thoUr 

cukus dk ç;kl djuk pkfg,A
(iii)	d{kk esa xfrfofèk ds ekè;e ls fl[kkuk 

pkfg,A
(iv)	viuh Hkk"kk esa fy[kus ds fy, çsfjr 

djuk pkfg,A
,d vPNk Hkk"kk f'k{kd og gksrk gS ftldh 
Hkk"kk esa çokg gksrk gS] og mRlkgh gksrk gS] 
vkSj dksbZ ,slk O;fä tks vPNh rjg ls vkSj 
fnypLi rjhds ls Hkk"kk dk Kku ns ldrk 
gSA og cPpksa ds Hkk"kk;h fodkl ds fy, 
fuEufyf[kr mik; dks viuk ldrk gS&
n	 Hkk"kk ç;ksx ds fy, ifjos'k dk fuekZ.k 

djuk djuk pkfg,A
n	 f'k{kd d{kk ds cPpksa dks ljy Hkk"kk esa 

dgkuh dfork ys[ku ds fy, çksRlkfgr 
djsa vkSj fofHkUu çdkj dh Hkk"kk 
çfr;ksfxrk ds vk;kstu djs blls cPpksa 
ds Hkk"kkbZ jpuk 'kfä dk fodkl gksrk 
gSA

n	 f'k{kd dks cPpksa ds Hkk"kk fodkl ds 
fy, d{kk esa dfork ikB] dgkuh 
ikB] fucaèk ys[ku] Hkk"k.k çfr;ksfxrk] 
okn&fookn çfr;ksfxrk rFkk vU; ,sls 
dk;Z djus pkfg, ftlls fodkl ds 
fy, ifjos'k dk fuekZ.k gks ldsA

n	 d{kk esa f'k{kd&f'k{kkFkhZ ds chp laokn 
gksuk pkfg, tks fd ikBî&iqLrd ds 
fyf[kr laoknksa dks thoar cuk ldrk 
gSA

n	 og lh[kus ds ekgkSy dks futhÏr dj 
ldrk gSA

n	 og Nk=ksa dks Hkk"kk ç;ksx esa Hkkx ysus ds 
fy, çsfjr djrk gSA

n	 og mfpr f'k{k.k fofèk;ksa dk p;u 
djrk gSA

134.	 fodYi (3) mfpr gSA
O;k[;kµd{kk ik¡p ds cPpksa ds Hkk"kk 
vkdyu ds lUnHkZ esa ge bl loky dks 
lcls detksj ekurs gSa fd ^bZnxkg* dgkuh 
esa gkfen us esys ls D;k [kjhnk\
vilkjh fparu&tc fdlh O;fä ds lkeus 
dksbZ leL;k j[kh tkrh gS ,oa og O;fä 
ml leL;k ds lekèkku ds fy, viuh 
dYiuk'kfä o l`tukRedrk dk ç;ksx djrk 
gS ,sj bl leL;k ds lekèkku ds :i esa 
,d ls vfèkd gy çLrqr djrk gS rks bl 
çdkj ds fparu dks vilkjh fparu dgrs gSaA 
tSlsµ^ghjk le>nkj Fkk ;k eksrh] D;ksa\*
vfHkljh fparuµblesa leL;k ,d gh fcanq 
ij dsafær jgrh gS rFkk leL;k dk ,d gh 
gy gksrk gSAtSls& 'bZnxkg' dgkuh esa gkfen 
us esys ls D;k [kjhnk\
n	 vfHkljh fparu dk lekèkku cUn vUr 

okyk gksrk gS
n	 bles xfr gksrh gS vFkkZr~ lekèkku 'kh?kz 

çLrqr fd;k nkrk gSA
n	 ;g rF;ksa ij vkèkkfjr gksrk gSA
n	 ;g vfèkd çfrf"Br gksrk gSA
n	 ;g ,d çdkj dk jSf[kd fparu gSA
Hkk"kk vkdyu ds lanHkZ esa cPpksa ls ,sls 
ç'u vPNs dgs tkrs gS] tks eqä vUr okys 
gks] ftuds mÙkj nsus esa ckyd vius Hkkoksa] 
fopkjksa] le> dh vfHkO;fä djsA

135.	 fodYi (2) mfpr gSA
O;k[;kµlEçs"k.k Hkk"kk dk vfr egÙoiw.kZ 
çdk;Z gSA
lEçs"k.kµ
(i)	 euq"; vius fopkjksa dks vfHkO;Dr djus 

ds fy, lEçs"k.k dk lgkjk ysrk gSA
(ii)	lEçs"k.k rHkh çHkkoh gksrk gS tc çs"kd 

vkSj çkid fo"k; dh vkilh le> 
fodflr djrs gSaA

(iii)	blesa oDrk vkSj Jksrk nksuksa dk gksuk 
vko';d gSA

(iv)	lQy lEçs"k.k dk vkèkkj Hkk"kkbZ n{krk 
gSA

blds }kjk euq"; viuh vuqHkwfr;ksa rFkk 
Hkkoksa dks O;ä djrk gS lkFk gh lkekftd 
lacaèkksa dh vfHkO;fä dk midj.k Hkh mls 
cukrk gSA
viuh blh çÏrh ds dkj.k Hkk"kk ,d 
vksj ekufld vfHkO;fä rFkk nwljh vksj 
lkekftd vfHkO;fä ls tqM+h gSA
ekufld vfHkO;fä fparu çdk;Z rFkk 
lkekftd vfHkO;fä laçs"k.k çdk;Z ij 
vkèkkfjr gksrh gSA bu nksuksa dh viuh 
O;oLFkk gS rFkk nksuksa esa vU;ksU;kfJr lacaèk 
gSA

oLrqr% laçs"k.k Hkk"kk dh fofHkUu Hkwfedkvksa ds 
lkFk tqM+k gksrk gSA laçs"k.k esa oäk vkSj Jksrk 
dh Hkwfedk egÙoiw.kZ gSA
oäk vius fopkjksa dks nqljksa rd laçsf"kr 
djrk gS rFkk nqljksa ds }kjk laçsf"kr fopkjksa 
dks xzg.k djrk gS rHkh Hkk"kk dk dk;Z laikfnr 
gksrk gS vkSj ckrphr laHko gks ikrh gSA

136.	 fodYi (4) mfpr gSA
O;k[;kµdfork dh iafDr;ksa esa ;k=k dh 
dfBukb;ksa dh vksj ladsr fd;k x;k gSA
cVksghµ	� eqlkfQj] jkgh] jkgxhj] ifFkd] 

iaFkh] ;k=h
ckxµ	 m|ku] miou] cxhpk] ckMh
daVdµ 	 'kwy][kkj]dk¡Vk
xºojµ	 dUnjk]xqgk]fooj][kksg

137.	 fodYi (2) mfpr gSA
O;k[;kµdfork esa vk, ^lqeu vkSj daVd* 
lq[k vkSj nq%[k Hkko ds çrhd gSaA
nks vFkok nks ls vfèkd 'kCnksa ls feydj cus 
u, lkFkZd 'kCn dks ^lekl* dgrs gSA
tSlsµ?kqM+lokj] jktiq=
lekl ds Ng eq[; Hksn gSA
n	 vO;;hHkko lekl
n	 rRiq#"k lekl
n	 deZèkkj; lekl
n	 f}xq lekl
n	 }a} lekl
n	 cgqozhfg lekl
}a} leklµftl leLr in ds nksuksa 
in çèkku gks rFkk foxzg djus ij ^vkSj*] 
^vFkok*] ^;k*] ^,oa* yxrk gS] og }a} lekl 
dgykrk gSA
igpkuµnksuksa inksa ds chp çk;% ;kstd fpUg 
dk ç;ksxA
tSlsµunh vkSj ukys]
iki vkSj iq.;

138.	 fodYi (3) mfpr gSA
O;k[;kµdfork dh iafDr;ksa esa dfo O;fDr 
dks gj fLFkfr esa vkxs c<+us dh çsj.kk ns 
jgk gSA
dfo O;fä dks ^gj fLFkfr esa vkxs c<+us dh* 
çsj.kk ns jgk gSA
vr% ^gj fLFkfr esa vkxs c<+us dh* ;g fodYi 
lgh gS] vU; lHkh fodYi vlaxr gSA

139.	 fodYi (4) mfpr gSA
O;k[;kµbl thou ;k=k esa dqN Hkh fuf'pr 
ugha gSA dfo us viuh ckr bu iafDr;ksa ds 
ekè;e ls O;Dr dh gSµ
ßfdl txg ;k=k [kRe gks

	 tk,xh] ;g Hkh vfuf'pr
gS] vfuf'pr dc lqeu dc

	 daVdksa ds 'kj feysaxsAÞ
bl thou ;k=k esa ^dqN Hkh fuf'pr ugha gS*A 
vr% ^dqN Hkh fuf'pr ugha gS* ;g fodYi 
lgh gSA

140.	 fodYi (1) mfpr gSA
O;k[;kµbuesa ls ^lfjr* dk lekukFkhZ 'kCn 
t;ekyk ugha gSA



Paper-1: 2018 �  263

lekukFkhZµ
(i)	 tks 'kCn leku vFkZ çdV djrs gSa] 

mUgsa lekukFkhZ dgrs gSaA
(ii)	 mnkgj.k ds fy, lw;Z dks lwjt] jfo 

bR;kfn dgk tkrk gSA
lekukFkhZ 'kCnµleku vFkZ dks çnf'kZr djus 
okys 'kCnA
tSlsµlfjrµun] çokg] rfVuh] unh vkfnA
vU; fodYi dk fo'ys"k.kµ
uxµigkM+] fxfj] vpy] rqax] vfæ] 'kSy] 
Hkwèkj] èkjkèkj] èkj.khèkj] eghèkjA

141.	 fodYi (3) mfpr gSA
O;k[;kµ^vfuf'pr* 'kCn esa ^rk* çR;; vk 
ldrk gSA
çR;;µ
(i)	 os 'kCnka'k tks nwljs 'kCnksa ds vUr esa 

tqM+dj muds vFkZ esa ifjorZu dj nsrs 
gSa] mUgsa çR;; dgrs gSaA

(ii)	 mnkgj.k ds fy, vfuf'pr esa ^rk* 
çR;; ds vkxs ls vfuf'prk 'kcn 
cusxkA

tks 'kCnka'k 'kCnksa ds var esa tqM+dj muds 
vFkZ esa ifjorZu yk nsrs gS] os ^çR;;* 
dgykrs gSA
tSlsµn;k 'kCn ds var esa vkyq tqM+us ls 
vFkZ esa fo'ks"krk vk xbZ gSA vr% ^vkyq* 
'kCnka'k çR;; gSA

142.	 fodYi (1) mfpr gSA
O;k[;kµxhr&dfork cPpksa ds thou esa 
jp&cl tk,¡ ;g ekrk&firk dks ilUn ugha 
gS] D;ksafd blls cPps ekrk&firk }kjk r; 
y{; dks çkIr u dj ldsaxsA
ekrk dks yxrk gS fd ,slk djrs gq, rks os 
ml jkg ls HkVd tk,¡xs ftl jkg ij os mUgsa 
pykuk pkgrh gSA ftl jkg ls os mUgsa viuh 
lksph gqbZ eafty ij igq¡pkuk pkgrs gSaA mudh 
bl bPNk esa ;g fufgr gS fd cPps oSlk dqN 
Hkh ugha djsa tks os djuk pkgrs gSa cfYd os 
oSlk djsa tSlk ekrk&firk pkgrs gSaA
tks 'kCnka'k 'kCnksa ds var esa tqM+dj muds 
vFkZ esa ifjorZu yk nsrs gS] os ^çR;;* 
dgykrs gSA
tSlsµn;k 'kCn ds var esa vkyq tqM+us ls 
vFkZ esa fo'ks"krk vk xbZ gSA vr% ^vkyq* 
'kCnka'k çR;; gSA

143.	 fodYi (4) mfpr gSA
O;k[;kµxhr&dfork Ldwyksa dks Hkh ilUn 
ugha gS] D;ksafd mUgsa yxrk gS fd Ldwyh 
i<+kbZ&fy[kkbZ ls bldk dksbZ lEcUèk ugha gSA
xhr&dfork ldwy vkSj d{kkvksa dh jkstejkZ 
dh xfrfofèk dk fgLlk cu tk, ;g Ldwy 
dks eatwj ughaA Ldwy dks yxrk gS fd bl 
lcds fy, le; dgk¡ gS\ ;g ikB~;&iqLrd 
ls ckgj dh xfrfofèk gSA f'k{kd vkSj f'k{kk 
vfèkdkjh pkgrs gSa fd f'k{kd igys ijh{kk 
ifj.kke csgrj ykus ds fy, dke djsA

}a} leklµftl leLr in ds nksuksa 
in çèkku gks rFkk foxzg djus ij ^vkSj*] 
^vFkok*] ^;k*] ^,oa* yxrk gS] og ^}a} 
lekl* dgykrk gSA
igpkuµnksuksa inksa ds chp çk;% ;kstd fpUg 
dk ç;ksxA
tSlsµunh vkSj ukysA
iki vkSj iq.;A

144.	 fodYi (1) mfpr gSA
O;k[;kµxhr&dfork ds ckjs esa dFku 
fcYdqy lgh ugha gS fd ;s thou&'kSyh dk 
LokHkkfod fgLlk gSA
xhr&dforkµ
(i)	 ;s Hkk"kk&l`tukRedrk dks iksf"kr djrs 

gSaA
(ii)	 ;s laLÏfr dk vfHkUu fgLlk gSaA
^lekt esa budh O;kid lgefr ugha gSA* ;g 
dFku lgh gSA
vr% ^;s laLÏfr dk vfHkUu fgLlk gSaA* ;g 
lgh fodYi gS] vU; lHkh fodYi vlaxr gSA

145.	 fodYi (4) mfpr gSA
O;k[;kµf'k{kk O;oLFkk xhr&dfork dks 
ckèkd ds :i esa ns[krh gSA
xhr&dfork Ldwy vkSj d{kkvksa dh jkstejkZ 
dh xfrfofèk dk fgLlk cu tk, ;g Ldwy 
dks eatwj ughaA Ldwy dks yxrk gS fd bl 
lcds fy, le; dgk¡ gSA ;g ikB~;&iqLrd 
ls ckgj dh xfrfofèk gSA f'k{kd vkSj f'k{kk 
vfèkdkjh pkgrs gSa fd f'k{kd igys ijh{kk 
ifj.kke csgrj ykus ds fy, dke djsaA
f'k{kk&O;oLFkk xhr&dfork dks ^ckèkd ds 
:i esa* ns[krh gSA
vr% ^ckèkd ds :i esa* ;g lgh fodYi gS]
vU; lHkh fodYi vlaxr gSA

146.	 fodYi (1) mfpr gSA
O;k[;kµvuqPNsn ds vkèkkj ij xhr&dfork 
ds ckjs esa ;g dFku lgh ugha gS fd buls 
cPps viuh jkg ls HkVd tk,¡xsA
gekjh laLÏfr vkSj lekt esa xhr&dfork 
dh tks txgsa Fkha os txg yxkrkj lhfer gqbZ 
gSaA xhr xkus] lquus&lqukus ds volj gqvk 
djrs Fks] os volj gh xhr&dforkvksa dks 
xquxqukrs jg ldus ds fy, ;kn djus ds 
fy, çsfjr djrs FksA lgstus vkSj jpus ds 
fy, çsfjr djrs FksA 	
tc dksbZ okD;ka'k vius lkekU; vFkZ dks 
NksM+ dj fo'ks"k vFkZ esa :<+ gks tkrk gS] rks 
mls ge ^eqgkojk* dgrs gSA
mnkgj.kµJh x.ks'k djukµ'kq: djukA
bZn dk pk¡n gksukµcgqr fnuksa ckn fn[kkbZ 
nsukA

147.	 fodYi (1) mfpr gSA
O;k[;kµcPpksa ds fy, y{; ekrk&firk 
fuèkkZfjr djrs gSaA

xhr&dfork,¡ cPpksa ds thou esa jp&cl 
tk,¡] os mudk Hkjiwj vkuUn ysus yxsa] 
[kqn rqdcafn;k¡ djus yxsa] jpus yxsa] ;g 
ekrk&firk dks eatwj ugha FkkA cPps ,slk 
djrs gSa rks os ml jkg ls HkVd tk,¡xs ftl 
jkg ij ekrk&firk mUgsa pyku pkgrs gSaA 
ftl jkg ij os mUgsa viuh lksph gqbZ eafty 
ij igq¡pkuk pkgrs gSaA
çksRlkgu Nk=ksa dks çsfjr djus esa  
egÙoiw.kZ Hkwfedk fuHkkrk gSA Nk=ksa dh 
ekufldrk gksrh gS fd os vius lHkh vPNs 
dkeksa ds fy, ljkguk pkgrs gSaA cM+ksa ls feys 
çksRlkgu ds vkèkkj ij Nk= vius O;ogkj 
dks <kyrs gSaA

148.	 fodYi (3) mfpr gSA
O;k[;kµ^dfork,¡ lquh&lqukbZ tk,¡* esa f}
deZd fØ;k gSA
f}deZd fØ;kµ
(i)	 blesa nks deZ fufgr gksrs gSaA
(ii)	 ftl fØ;k ds mi;ksx ls nks dkeksa ds 

iwjk gksus dk irk pyrk gS]
(iii)	 mls f}deZd fØ;k dgrs gSaA
dfork,¡µlquh&lquk;h tk,¡ esa ^vdeZd* 
fØ;k gSA vr% ^vdeZd* lgh fodYi gksxk] 
vU; lHkh fodYi vlaxr gSA

149.	 fodYi (2) mfpr gSA
O;k[;kµ^lkaLÏfrd* esa bd çR;; gSA
çR;;µ
(i)	 os 'kCnka'k tks fdlh nwljs 'kCn ds 

vUr esa tqM+dj mlds vFkZ esa ifjorZu 
dj nsrs gSa] mUgsa çR;; dgrs gSaA

(ii)	 mnkgj.k ds fy, laLÏfr esa ^bd* 
çR;; ds ç;ksx ls ^lkaLÏfrd* 'kCn 
curk gSA

tks 'kCnka'k 'kCnksa ds var esa tqM+dj muds 
vFkZ esa ifjorZu yk nsrs gS] os ^çR;;* 
dgykrs gSA
n;kyq ¾ n;k 'kCn ds var esa vkyq 'kCn 
tqM+us ls vFkZ esa fo'ks"krk vk x;h gSA vr% 
;gk¡ ^vkyq* 'kCnka'k çR;; gSA
çR;; ds nks Hksn gSA
Ïr çR;;
rf¼r çR;;

150.	 fodYi (2) mfpr gSA
O;k[;kµ^eatwj* dk lekukFkhZ 'kCn Lohdkj 
gSA
lekukFkhZµ
(i)	 leku vFkZ çdV djus okys 'kCnksa dks 

lekukFkhZ dgrs gSaA
(ii)	 mnkgj.k ds fy, lw;Z dks lwjt] jfo 

bR;kfn lekukFkhZ 'kCnksa ds ekè;e ls 
Hkh tkuk tkrk gSA

^eatwj* 'kCn dk lekukFkhZ 'kCn ^Lohdkj* 
gksxkA vr% ^Lohdkj* lgh fodYi gS]vU; 
lHkh fodYi vlaxr gSA


